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| PART - 1 / TV - |
CHILD DEVELOPMENT AND PEDAGOGY / 9T fa&ra 9 Rramems

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.
A : frefafaa get (9. 9@ 1 @ 30) & 3 87 & fofg We/maa 39377 faFed gy

1. Assertion (A) : Teachers should respect the individual differences among learners and adapt
their teaching to cater to needs of all students.

Reason (R) : Collaborations, group works and interactions among students should be avoided
while teaching a class of diverse learners.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AT (A) : ﬁaﬁaﬁﬁraﬁdﬁf%aﬁmfnﬂmﬁwwmmaﬁqﬁﬁaﬁﬁaﬁ
SIS 3 AR ST e 1 G F el |

T (R) : ot =1 fafr g & faed 1 TR T, S A W, W P N
S § =1 =e

e fawed 911
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@ (A) aiit (R) S e €1

3) (A W(R)é\*ﬁﬂﬁ%m(&ﬁ(mwmm%'
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t and Vygotsky’s theories is :

2 A key commonality in Piage
: t of children in their own learning,.

(1) Involvement and engagemen

(2) Therole of culture in the cognitive processes.
views of relationship petween language and thought.

3) Theirs on stage-like progression in children’s development.
2;_3{ e Rl A T T T
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Which of the fol

lowi ; il .
of students ? owing correctly describes ‘culturally responsive teaching’ to cater to diverse groups

(;) Il-'tte?tional (i) Adaptive (iii) Differentiated  (iv) Standarci;zc;d

1) ), Gi), (i) @ O @) @), @) @) )6 @) (i), (i)
?ﬁ:fﬁ““@ﬁww%mﬁﬂ%ﬁaﬁﬂﬁaﬁa st w1 ST o 5w
Q) gfria (i) IRELLS (iv) AR

(M @), (), (i) () 1),;@:), ), (v) (3) (), (iv) (4) (id), (iii)

h
t ||.I!f||||

According to Jean Piaget how arexc d'uldren different from adults ?

(1)  Children’s thinking is qudliatively different from that of adults.
(2) Children’s thinking is quantitatively different from that of adults.
(3) Children are dependent on adults while adults are independent.
(4) Adults are much more knowledgeable than children.

aﬁﬁm@r%aﬁmaﬁaﬂﬁﬁﬁ%ﬂmfm%?
1), =4l F 9= aEh 4 5 F =1 gt 21
aﬁ’raﬁ@aqﬁmﬁ?m@wffﬁﬁﬁﬁ?ﬁ%

L0 |

@)
3) aﬂﬁﬁmﬁaﬁ@ﬁ%@ﬁfﬁmméﬁﬁl
@) ﬁﬁwﬁma@ﬁ%aﬁ?aﬁ%l

cher who wants to help your students develop metacognitive skills. Which of the
tegies is most likely to foster this type of thinking ?

g students with summarised notes for assignments.

You are a tea
following stra

(1) Providin
Assigning homework that requu‘es memorization and recall.

(2)
3) Giving students marks msl'g_afd of qualitative feedback on their performance.
@) E ncouraging students to }Eﬂ— t on their own learning and thinking processes.
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i age and thought ?
According to Ley Vygotsky what is the relationship between languag

(1) Language ang thought are independent of each other A
(2 Language ang thought are complex interrelated processes o P

©) Language does not shape thought
(4) Thought shapes language
N AT 35 S e o 9

(1)- o1 3R foreme o gk @ e N

@) T S o <t e fafr S €
(3) s forem 1 st i 2 2 e
@) TR v smer 3y

F 7~

(1) Naturalistic Intelligence (2? ;?odﬂy— Kinesthetics Intelligence
(3) Linguistic Intelligence (4)1-::511ter-personal Intelligence
T Rl g2 & Tt @ - mm%m%iﬁnﬁmﬁaﬁ
a@aﬁﬁmﬁﬁmaﬂzmmﬁa{wgﬁwﬁwwaﬁ
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Feedback to the students in a classroom is most effective when :
(1) It focuses on what the child cannot do rather th
(2) It centres around tests and exams at the end of
(3) It assigns comparative ranks to the students,
(4) It occurs during as well as after the Eea_{rung activity,

o1El % fore Fan # wfafran wad mfqum“@‘aﬁm_

) %mmmm%ﬁam%%m@mqﬁmmmm%%w

@ Wﬁ%mﬁﬁwﬁﬂﬁmwﬁ%f% T T ¥

(3) T ST H T At e
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by,

o0 what they can g,
the year.

() I drEA w Tfafafy % < mwﬁf‘ﬁm%
p-11 ([N 1



10.

11.

12.

Rama is g teacher who ig

students to work ir unplementing Vygotsky’s theory in her classroom and she assigns her

groups to complete a challenging task. During the task, one student struggles
student ? Y concept. What would be the most effective way for Rama to help this

(1) Assign a different task to the student that is beftet suited to her abilities.

(2)  Work throu gh the problem with the student and-ptoviding guidance and feedback as needed

while involving other group members, &2
(3)  Provide the student with the answer to the pr;o_jém so the group can move on.

]

(4) EnCOurage the student to try to solve the prol;ﬁ];é}n? on her own.

T U Tfiert & S s 3 fagia @1 s awn & e S § i o T e e #w w

& 1T 31 ot 3 wogi F s e 3 e g el €1 T 3 SR, T B T Wee ol He

THE F Torm werd s ¥ T % A v o o Heg st B Hed w0 e ?

(1) =T % O 3T F1 W S ua Al % g @

(2) O F WA GHE T FM HE R T F 7 wg@] B W FW G SAAeIhAgaR e S
gfgfe wer L

(3) BT I GHEA F1 IR EH HX AMh THE ST G T | _

(4) BT TEE F1 W T H B w0 F fer sewted S

e and stability in emotions, personality and segial relationships together constitute :

Ci'l;angp sychosodal development ) Cog;n;ﬁ'zeg_ development
: Personality development (4)  Emotiond] development
il iR wrfEs dse § ot SR ferar fw foskra F e €2
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ive edu .
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1) K.ﬂl‘;erable and in need of protection .
@ W ¢ and dependent ... { s
(3) - ¢ and capable of only consuming nayjedee
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13.

iaget’ cognitive development implicates that :
{?)m P(I;gr:ci;zi? ;);lzlfl]d %bzldesigned ksepirfg;.:@gdren‘s age-group and stage in mind. o
(2) Focus of teaching should be the outcome-of the activity instead of the process of thinking,
(3)  Behaviour should be conditioned using réwards and punishments.
(4) Concepts should be taught in a sequenceof complex to simple.
it frmst & s faehr & fagia a8 sam i
(1) ITSTHH I w=al & Y-FYE 9 =7 b1 S H Tt IR foHa S e
(2) T it o wffafs & uftomm o @ AT fF G wfE W
(3) AR I < iR YR F M ¥ ST fRar ST =R
(4) FrEEReTS i Wew | W % %wH H fowrn s =t

14.  How does setting mastery goals impact a student’s motivation and views of ability ?
(1) It often implies enhanced extrinsic motivation and belief in the entity view of ability.
(2) It often implies enhanced extrinsic motivation and belief in the incremental view of ability
(3) It often implies enhanced intrinsic motivation and belief in the entity view of ability.
(4) It often implies enhanced intrinsic moﬁgr_éion and belief in the incremental view of ability.
maﬁaﬁrm%mﬁuﬁﬁﬁaﬁ@rﬁwﬁgﬁmaﬂiﬁvw%aﬁﬁﬁw%ﬁuwﬁa@%%?
(1) % 7R A & fer gfesio § s & st sfugron 3R fereams 1 uifar £
@) wmm%mmﬁﬁgmw@wwmﬁm%u
3) wmmtwmﬁwﬁwwm SR foreams 1 gwiian ¢
(@) T SRR A 5 it gfe § w2 sifen AN SR g 1 vt ¥
15. Assertion (A) : During adolescence the pressures to conform to gender expectations and follow
conventions of feminity or masculinity increases
Reason (R) : Gender and gender roles are determined biologically.
Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false, P
(3) Both (A) and (R) are true and (R) is tﬁ:é_;__tz:;rrect explanation of (A
(4) Both (A) and (R) are t:;:: (R) is not t]je correct exrélar?:nzn(of) 0
Afha (A) : R NS ST 3 sy :
T (R) : amaﬂﬁm‘ilm*ﬁfqmm_ﬁﬁqfﬁaaﬁw%l
wét foed 71 ik
) [A)aﬂ'((R)ﬁW%l
(@ (A) (R T8 E AR (A) 3 (R) et vy ey 3
(@) (A) 3 (R) S T & S (4) H (R) T8 s et e 3
p-rt (e 6



16. Assertion (A) : Teachers should encourage debates, discussions and collaborations among

students,

Reason (R) : Knowledge production is an inactive process and engagement in group activities

hinders meaningful learning.
Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(4)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
SR (A) ;- ol 1 ool it e, v ke i 3 st e e

T (R) : mmwﬁmm%ﬁtmwﬁﬁfﬁﬁmaﬁ@aﬁmﬁw
ST § 1

T fawey g7

(1) (A) w&i g &fe (R) e 2

(2) (A) 3R (R) AT o §)

(3)  (A) 3R (R) 3 T ¥ iR (A) F (R) 9t = w3

@) (A) S (R) T T E T (4) 1 (R) T s e

17. Which of the following hinders the participation of s
classroom ?

(1) raised-line drawings and maps

tudents with visya] impairment jn

(2) tactile models of graphic materials

(3) electronically formatted lecture transcriptions
(4) printed textbooks and notes

Frtforfia & @ 7 gfteenfya faenferdr 1 Fun ¥ wﬁﬁﬁmm%?
1) 3w g e o st At

(2) wfd A H ot e

(3) e T Q yrefua A Hfaera

porr TR




18.

19.

20.

Which of the following is a correctly matched pair ?
(1) Formative assessment : determining what the students can do before and after the class

(2) Summative assessment : involves paper - pencil tests as well as detailed accounts of non-
written behaviours

(3) Criterion - referenced assessment : includes mastery of specific topics

(4) Norm - references assessment : compares performance to that of peers

frefafed 9 @ wiF-w w8 gafaa gm 872

(1) T qeaisd : I8 fFuifta w5 i o Fan @ e iR 915 # 1 S 9hd ©

(2) ArTCHS qRAi ; T TR-Uiee T % wy-wny R-fafed sEeri % fosga faawo wita €
(3) Hree-HehMd Yeaiwd ; faftre fawdi #) wera mite §

(4) wEEH-Hefia Yeaie : WYl % yeeiH wt gor wial §

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished
singers, and they send her for classes for voice training after school. Her capabilities are most likely
to be the result of an interaction between :

(1) heredity and environment (2)  gender identity and genetic make-up

(3) growth and maturation (4) nutrition and discipline

e, T 12 T e, fodre it s vt €1 9% Ar-fn, SR € frgon e € 3R g
F 379 STETST i IR SR HW F g ufineror wan F 99 @ §) G i 97 9 g w9 @ B
FRFI & Iia:fwman %1 aftom 82

1) ana,a‘ﬁﬁrcna?}tarmam_ (2) <ifTR T 3R snEfE T

(3) 3fe i afews (4) o SR ST

Which method did Lawrence Kohlberg used to study moral development of children ?
(1) Conducting observations of children during play

(2) Experimental method

(3) Quantitative research approach

(4) Posing moral dilemmas to children and analyzing responses

a % 4R Al 1 S

(1
@\ greifire faft
) aﬁﬁgﬁmﬁﬁﬁﬁgﬁﬂﬁmmﬂmﬁﬁm@aﬂm

8
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21.

22.

23.

Assertion (A) : Schools should function within frameworks which assess the finished product
and learning outcomes.

Reason (R) : Learning is tightly sequential and hierarchical.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A). ‘

e () : e 1 TE @ 3 s e e e 9 e S et 3 SR 1 A
Cochd

HIOT (R) : T T AR R ST S TR €l

& foees 97

(1) (A) T & AR (R) T T

@ (a) 3R ®) I Tw

() i (R) 9 A E S (a) T (R) T S A €1

- T T €
(4) (A)#R(R)aﬁaﬁ%aﬁﬂwﬁ(amﬁm
Which of the following statement is correct about ‘Autism’ ?

(1) Autism is caused solely by environmental factors.

(2) Autism can be cured and improves with age.

All autistic people have at least one exceptional skill
e Autism is 2 neuro-developmental d-.isorc?er.
ﬁﬂﬁﬁﬂm ﬁﬂaﬁﬂﬂmmﬂ‘ﬁ?ﬁﬁ’%’m‘fﬁaﬁ%?

2l A SraTEReia HEEH b B B
o Wﬂg@ﬁﬁﬂﬁﬂﬁ%ﬂﬁ?mmﬁw%%l
N ﬁﬁqﬂaﬁmﬁﬁﬁfﬁw—#mwﬁé’mﬂwm%.

gl

> et T g fareT faer
4)

en teaching others what they have learned ?
(2) Reciprocal teaching
teashing (4) Rote learning

ExpOSl } |
8 Cof‘d“""mgdﬁ lﬁea;-n:_,is,- et 9 fera i & 5t < <t €2

ategy involves childr

frd aaﬂzwfﬂaﬁ . o
) AT forer™t »
(1 gl
3) FaH | Rl |
WIBIIIIIIHIIIIIMMINIII



24,

25,

26.

Sensitive periods are those time periods during which certain
for course of ‘normal’ development.

(1) environmental factors (2) hereditary factors

(3) genetic predispositions (4) ethnic factors

TaeYie erafy o wHa oy Bt & frad < F9 g w9 | ‘I’ fawm & fau
HEeqUl Bt © |

(1) wAETTE FREH () ST FRE

(3) SEE FH (4) HFEST HEh

Students struggling with dyslexia can be taught to read :
(1) By giving long and complex passages.

(2) Through association method of conditioning.

(3) Through systematic phonological training.

(4) By providing higher grade level reading texts.

T34 dFed § S[F W BEl &I Ue FaEmn S e §

(1) < iR Sfed Teia

(2) FFFeE @ ATEUA faf & e 4

(3) SHAEQ AT FIAL % 7w

(4) Fo IS TR F S U WCH FH |

Which of the following question promotes analytical thinking ?

(1) What is the total population of India ?

(2) What are the various causes of increase of population in India ?
(3) The capital city of India is '
(4) How many States are there in India ?
ﬁmﬁﬁﬂammmﬁwmﬁm@m&m%?

(1) #1 gl SAEEA e # 2

@) yra # sreeA 9fs & fafim= s g %

@ w@IIEEEH___ %

(4) wra H fohad T %7

p-rr (WA 10

are especially important



27,

28.

Assertio
n (A): Teach
ers should give ot of opportunities to children for experimentation and

discu
S examples and non-examples.

A con ;

cgumesrtr;(:welway of dealing with misconceptions in children is to provide
mples.

Choose the correct option

(1)  (A) is true but (R) is false.

(2)  Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is ndt the correct explanation of (A).

AU (A) :  Foreren] =01 =i 1 Wi 35 Fofg g it avere 33 e 3 St iR fr-sameeell w
== HE =) i,

T (R) : Tt TR gRomet ¥ froe

wa fasea 95| 1

1) (A) T T ARFA (R) T

@) (A) R () il T

@) (A) st @) R T E ol () 3 @ T =

@) (A)ﬁt(ﬁ)aﬁﬁ%ﬁmm’ﬁ(mwmqﬁm%'

Reason (R) :

W (oI AT faadid SeTetl Je T 8

== . . ) ‘
cultures whictesteess social harmony, expressions of ‘anger’ are
od and ‘shame’ is-encouraged.
ardo not play any role in learning.

In Asian
discourag

Emotions are subjective

Assertion (A):

[y

Reason (R)

Choose the correct option: i3
(A s trae but (R) 5 € €0
e i (A) and (R) are false B _
(2) Bo true and (R) is ﬁ_ﬂn%__%orrect explanation of (A).

are i
th (A) and (R) ) is 16t the correct explanation of (A).

(3) Bo e e but (R
4) Bot? (™1 I’ 5 E 'ﬁﬁmﬁﬁwwméﬁﬁ,'aﬁa’aﬁmﬁmﬁaﬁmﬁa
sferaa (A) ﬁ_{"m%@-{*mﬁ'aﬁmﬁﬁmm%
1) (A)?@%W(R) .
[ | 6
Eg) (A)3“711(11)&:?[.Tﬁ:wr (A)ﬁ(ﬂ)@f@mﬁl
) {A)ﬁi(::;a:ﬁﬂﬁ%ﬁm(A)ﬁ(R)_fzmﬁm%l
w @7 11 =
| Illlllﬂ||||ﬂl||ﬁ|ﬂl||lﬁﬁ|]|



29. In order to develop critical thinking mﬁéng students a teacher should :

(1) give questions that involve inférénces and explanations.

r'e- N |
% 2

(2) avoid questions which need mfé:ré_;nce and analysis.

(3) ask only those questions w}ucli,gg_?ry single answers.

(4) discourage the students from ;s;’l;g doubts and questions.
forenfifdi  srreierors feie @1 fasfaa w0t % for, o foer 3 -

(1) & v & ey for fred sl st wnfirer 9 ¥

(2) T T e e i et e forvern = st 2 &)
(3) ¥ U8 & W T3 e o v @ R

(4) ﬁmﬁﬁfaﬁﬁﬁﬁtﬂa%&;mmmwl

o

30. Inclusive classrooms : S

(1) Are meant to offer differenﬁatizhﬁ‘nstructions a
: s
(2) Aim to remove all kinds of differe_nces among the childy
en
(3)  Recognize that every child wij learn
at the same rate
and at th

(4) Is an educational program offered to
cater to the need
s of ‘g

(1) W—Wﬁiﬂmaﬁ%mwﬁ

2) = & dE T AR N i
fﬁmwmmmﬁr

@3) ﬂqmﬁmﬁqu#ﬂ

(4) ﬁ‘ﬁﬁﬂﬂ%ﬁ’aﬂmﬁw%%

porx HIWN 12 %&*‘TW%,



IMPORTANT.| &0l

Candidates have to do questions 31 to 90 EITHER"ﬁb’f:n Part - Il (Mathematics and Science) OR from
Part - III (Social Studies / Social Science). FLLL
TR HY 79T 31 B 90 AT 7Y ey 11 ( fore & FrT) T T - 11 ( FAThids 3P/ wraifads
7r7) @ 3 &) N

PART - num -1
_ MATHEMATICS AND SCIENCE / 7o @ fagi
irection : Answer the following questions by seigcti'_i;;ﬁqe correct/most appropriate options.
=g - ﬁﬁ%ﬁﬂ%mﬁ%ﬁqaﬁmmﬁmgﬁm

31. A teacher distributes different types of triangle shaped paper cuttings to the learners and tells
them to measure and tabulate the angles in order to find the sum of angles. He tells them to note
the result in each case.

This method of teaching is an example of :

(1) Deductive method (2) Analytical approach

(3) Discovery method (4) Teacher centered approach

s freres fnanfiei =t fafir o & PSR T 1 Fae faaRa i & o 3= Holl 1 9 I

mﬁ#maﬁﬁa‘rmﬁﬁ'{wﬁa@wﬂ?ﬁ@%ﬁmﬁl e 3 g it § oftoms | wH &
forg el | .

FrmaATaeh ot (2) AT STEH
== fafu (4) ziﬂﬁ shfsd ST
B i
£ (F), edges (E) and vertices (V) of a polyhedron are 7, 15 and x, respectively.
r of faces (F),

—4x) 18 :
of (2F+3E—4) s P

@ 17 . )
1 18 N ), f B s ot (v) 1 HE@d A 7,15 3R x §1 W, (2F +3E—4x)
et g F T
FEAAE: o 17 @ 20 (4 19
) 18 ROUGH WORK / T &
W P
N
L)
I
)
13 K
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35, 25, 29 and 35.
33. Marks obtained by some students of a class are 36, 37, 31, 42, 23,38, 17, 15

The difference of the mean and the range of the data is '

) o8 @ 6.0 B A e ()
fohet e % o fomfiidl g wra oi% 36, 37, 31, 42, 23, 38_}7,18,35,25,29@'{35 g
T sifngl & wrea iR ot W W R

(1) 55 ) 6.0 (3) 45

34. Tf (2x+5y)2—5(2x +5y) — 14 = (2x + 5y + p)(2x + 5y + q), en/the value of (p+9) is :

1) 9 @ -5 @ 7 @) - =l
M (24 5y)2 = 5(2x +5y) — 14 = (2x+ 5y + p) R +5y+q) F A (p+q) F AT :
1 9 @ -5 @G) 7 (4 -14

35. A trader buys 12 fans for ¥ 24,000. He marks each fan at%%% above the cost pnce If he sells all
fans by giving 10% discount on the marked price, then h_lg.,gvera]l profit (in%) is :

(1) 3200 (2) 3500 (3) 27007} (4) 3000

o S 12 TR 724,000 3 WG ¥ T8 TOF U8 F ST Y 25% i T sifnd s
ofz =g [t 9@ & 10% ﬁag%m%aém%,ﬁtgﬁrﬁammww CE T

I"|I

r!Jl

“ f

(1) 3200 (2) 3500 (3) 270[?__“‘ . (4) 3000
3@ (@—-b+ C)b:f—b_ I’ is equal to :
(1) —4c (2) 2c () b-c —
w(i‘,_‘_E_JE_C_z*(""':’“‘:)2 R E ()
b—a p—
(1) ~-at (2) 2c (3) b-et— @)
—_— SPACE FOR ROUGH WORK / % “"E*% f@rq —= C—a
prt (AR e




33. Marks obtained by some students of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is =
(1) 5.5 2) 6.0 @) 45 — 4) 5.0
foret e % 3o fornfoE g wmm aia 36, 37, 31, 42, 23, 38,717, 18, 35, 25, 29 R 35 B
BECEER EE i e L
(1) 55 (2 6.0 3) (4) 5.0
34. s =
If (2x+5y)2—5(2x +5y) — 14 = (2x+5y+p)(2x+5y +q), thenthe value of (p+q) is :
1
;)& 9 oo ol 4 -14
(2x+5y)2~5(2x+5y)-14=(2x+5y+p)(2x+5y+q) 2 A (ptq FHA Y
1) 9 "
(1) 2 -5 @) 7 @ -1
35. A trader buys 12 fans for ¥ £33
- 24,000. He mark <
fans by giving 10% discount marks each fan at25% above the
(1) 3200 o) :: th.e marked price, then his overall profit (?I?S;’)Pi;me If he sells all
00
_ () 2700=~:
gmﬂ‘ﬂuw@?mpomﬁm%, T T = (4) 3000
T W T A 10% T 2w Ay SEhSHITT 9 059
Y, A Bt Pt 5 25% e T sifpq
(1) 3200 @ s (:‘-“ F 3 A () % T 2
2700 oy
3 (4) 3000
34 (a—b+c)2 —(a—b-¢)? .
</ b—a is equal to :
(1) /—4c 2) 2¢c
(@) b-
(a_b+c)2—(a—b—c)2 : (4) L
b -a R h
(1) —4c @) 2¢ o ~—
b‘- T
SPACE FOR ROUGH WoRK / rc: v

p-1r (W e

14



37.

38.

39.

porr ([T

Which of the following is NOT true ?
(1) The expression (xz+10x+25) cannot be simplified further
(2)

: ion i i the
The value of the variable in an equation which satisfy the equation is called a solution of
equation

(3) 3+4xs is not a mathematical expression
(4)  Operations of multiplication can b

e done on mathematical expressions
Frerfefen 3 3 o o g T
(1) = (x2+10x +25) B 3 o e 8F o <1 e &

@) mﬁmm%mﬁmﬁmm%mmwm%
(3) 3+4x5 T o siore 8 &

(4) waﬂﬁﬁm‘i‘vﬁmaﬁaﬁmﬁmm%

The domain of learning that deals with attitu

(1) Affective domain - (2)  Psychomotor domain
(3) Knowledge domain (4) Cognitive domain

TR %1 5 & S o e ve vt & e W & 5
(1) T & (2) T &
(3) TH&A 4) ST &

des and values is known as :

& T F T W T

According to National Curriculum Framework 2005 which of the following Process is least
important in mathematics ?

(1) Finding short-cuts in mathematics.
(2) Generalizing a mathematical formula.

(3) Solving day to day problems. |

(4) Understanding when and how a mathem.auca.l technique is to be used.
mmmzomﬁmﬁﬁﬁrﬁgﬂﬁﬁﬁhmmmﬁmm -
1) Tford | FMEHE GIsl | Heof
(2) Tifordfta G 1 WEE TR

3y fe e i EEnSl Hl FEH FE |

8 Wwﬁnﬁmaﬁmwmaﬁaﬂﬁﬁmmm%l

4

SPACE FOR ROUGH WORK /1% %1 & forg wmg————————
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@0. M is a point on side AB of a triangle ABC such that AM=BM=CM. If angles A and B

respectively x and 70°, then the value of (3x +25°) is equal to :
(1) 100° (2) 115° (3) 70° (4) 85°

Tt s ABC %1 s AB W M T foig 0 Y& fiord & fif AM=BM=CM ¥1 afZ 77 A af
S x 3R 70° ¥, A (3x+25°) 1 HA TR T

1) 100° @ 115° @) 70° (4) 85°
41.  The sum of the largest and smallest fractions among o 2%, g and 2% is :
7
9% 8.l 39 9 37
(1) 35 @ 2 40 (3) 255“ (4) 2;5
3
ﬁ4=h 2—, = &R 2— H Hod o SR T S o w2
7 39
1) 25 @ 2= 5.3 37
42. The ratio of two numbers is 3 : 7 and their L
numbers is gy T,hen, Sum of the LCMm and HCF of thes
(1) 600 (2) 660 (3) 30
@) 300
< HEAH 1 AT 32 7 & 7o 2y LCM = 63
=630 §1 W, T wema
LM iR HCp 37 4 ¥
(1) 600 (2) 660 3) 30
4) 30
SPACE FOR ROUCH WORK e e
.8 o o [ [0 R 16
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43. f_\rea of a right triangle is 240 cm2. 1f its one side other than the hypotenuse is 30 cm, then perimeter
(in cm) of the triangle is :

(1) 92 (2) 100 (3) 80 (4) 84

EPEl SR st o1 @t 240 cm? 81y v 3 o S T 9 30 cm 2, 9 39 g
IREY (em H) ¥ - —

1) 92 2) 100 (3) (4) 84

5 R

44. A sum invested at 10% p.a. for 2 years becomes ¥ 3,iﬁzzwhen the interest is compounded annually.
What will be the simple interest on the same sum a_;tftﬁe same rate in 2% years ?
:’ (1) Re75 (2) T 700 B T625 . (4) T 650
10% = T T 1w 1 7w et 2 o 423,267 A R, s iien G S 21 9
PrRT™"
T RIH R 2%aﬁﬁﬁﬁmwm'@m? berde ":;T‘f‘o
o~ PA
) T Pyror2
g ae DXL T
(1) T 675 (2) T 700 (3) ¥ 625 (4) T 650 2
- £ N1EA =
45. How many natural numbers between 1 and 500 a :?;[_i:\risible by each of the numbers 3, 5 and 7 ?
Lo :
(1 5 2 6 G) 83 (4) 4
1 3z 500 % = Teft et wipe @A €, S el aRs ok 7 H 9§ wedw § frayw 9
(1 5 2 6 ® 3> (4) 4

46. Two parallel lines are intersected by a transversal and the two interior angles so formed on the
same side of the transversal are (2x+15°) and (3x—20°). Then, the value of (4x +6°) is :

(1) 148° (2) 146° (3) 154° (4) 150°
@ﬁﬁi@am%@aﬁﬁuﬁﬁam%a%g;mﬁﬁmm#mﬁ SR o A s

(2x +15°) ¥ (3x—20°) F| gE, (4x+6°) HHAE ~
M Bl e o) @ s
SPACE FOR ROUGH WORK /¥ #d & ferq s
-0 : R Y
ﬂn\\gxmﬁ - e
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- .

obtained by a student in Mathematics, Science, Social Science, Hindi and
English are respectively represented by sectors of central angles 90°, 80°, 65°, 75° and 50°. If the
total marks obtained by the students were 540, then what is the difference of the marks obtained

by him/her in Mathematics ant English ?

-

47. In a pie chart, the marks

(1) 40 (2) 30 (3) 60 4) 50
T = A, feeh feraelt gk, fer, s fora, feedt ofte St & ST SfeRt Bl T 90°, 807,
65°,75°aﬂ150°%a#\uaﬁvfgﬁﬁwﬁmﬁaﬁﬂﬁm%| If s@ faenefl gR1 9w Fel 3 540

ﬁ,ﬁwﬁmrﬁaaﬂtﬁaﬁgﬂ el 1 R ?

e 1 SR T T "

(1) 40 2) 30 @) 60 4) 50 f%
e)_

48. Which of the following does not imply the meaning of assessment ?
(1) It helps to diagnose individual differences.

(2) Itis a procedure to gatLie r information of student’s performance.

=5

] .‘F"
m:ﬁj fimm

g

»
%

(3) Itis evaluation.

3

i
L

(4) It helps to label the stufents.
freiffiaa 3 @ 1 S % Y HI TG HA 2

agsqmﬂaﬁmmﬁmﬁamaﬂ%ﬁmm%l

(1)
(2) ﬁmﬁ#wﬁm@mmm@mg,
(3) 7% GodisA ¢ | N
-
(4) a Forfefeil 1 AT ST T FT ¥
SPACE F?ﬁ;ROUGH WORK / T% & oh {10 18 P
—
2

ot IO 18 TSI




49. Arrange the following statements according to ascending levels of geometrical thinking as per
Van-Hiele’s theory of geometrical learning,.

(a) Identification of properties of geometrical shapes{;

(b) Classification of different shapes T_*—-=
(c) Finding relationship between the properties of ;@euiml shapes
(d) Identification of geometrical shapes as they are::—__::_'

Choose the correct option :

M @ © 0 @ @ @) OB
3) (@), (b), (), (d) @ (@), ®) @),

A ¥ F sty Aferm & fagia & Er Frefafaa s 9 safrds 9 ¥ omd @ o et
HifTa |

(a) st sepfadl % TN H TEEH

(c) efidt st & O % ot Hele g =~
(d) i st 1, S 3 &, 36 w9 A we= _:}

w# fawed 91 ¢
1) (d), (. ) (@)
3) (a), ®), @

@ @ OB,
@ @ ®) @ ©

hose diagonals PR and QS intersect at a point O such that
WOk =20 cm and OS=16 cm.Then, value of (7y +5) (in cm) is

@) 2 (4) 23

y logram
50. g(lgi(X'i'?) cm,OQ=(x+y) c

) 28 -1

1) 26 . oo PR 3 QS T fig O W ST F &1 AR OP = (x +7) em,
PQRSWWET‘{’G%@?WOS”“ cm &, @ (7y§-r5§§ﬂﬂ (cm ®) TR R :
00=(* +v) ¢ OR=2 . ot (3) 2;'-& 4 4) 23
1) 26 ;C)E FOR ROUGH WORK / TH.&T o [T S

SP —

O
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bl.

52.

53.

54.

an

a7 3\

b _

If x is the least number which must beag\aikded to 955 to make it a perfect square, then value of 3x +2

is equal to:

y A @ 5 (3) 20 4) 14
afz 055 3 g ST AT x Ut e T ¥, 38w o 3 e S g, AT 3x +2 I A TR T :
1H n (2) 5 (3) 20 4) 14

' 1‘

L

D is a point on side AB of a AABC such that CD
then ZADC is equal to :

(1) 70° 2) 100° (3)1“‘33? @) 50°

firt s ABC %1 41 AB W feera D w fiig T ¥R & fF CD, ST ACB 1 TGS 1
ZA=50° AR LB=70° ¥, M LADC "o & : P~

(1) 70° (2) 100° (3)‘ Gﬂ" (4) 50° &%.9

At upper primary stage, as per NCERT hi 3 .
under number system ? . » Which of the following topics have NOT been included

[E

E bisector of ZACB. If ZA=50° and ZB=7(",

o

(1) Exponents and Powers

(2) Square roots and
(3) Complex Numbers cube roots

(4) Fragctions
NCERT#W,ﬁmaﬁa;wq;’mwn ? J
fFgmE? zﬂ_ﬁ %, T "E'iaf‘ﬁﬁaﬁﬂ—ﬁmgﬁqﬁaq@
(1) =i IR o 3
(2) TSI Sy
(@) ufmg e @ f\“i%
N

eral ABCD = 48 tm, CD = 17
(1) 720 2) 750 (3)(“‘ ;602) €M, AD=40 cm an
férefl T4 ABCD 1 ¥R 120 o # | ofy o @) 690
%, df 9g4s ABCDWm(cmzﬁ)% -—48Cm'CD=17cm,IA'D__40
(1) 720 ) 750 T Lhes LB

p1r (AR

20




55.

56.

Which of the following statement is least appropriate regarding the proofs in mathematics ?
(1) It can help the students to validate their own reasoning.
(2) Proofs are built on intuitive knowledge and not reasoning.

(3) It explains why a particular mathematical result must be true.

(4) It helps to reveal the conneehons and provide insights into the underlying structure of

mathematics. "y
ﬁwﬁ@aﬁﬁﬁqmwmﬁff
1) %ﬁmﬁiﬁaﬁaﬁw%ﬁﬁm‘rmwﬁmﬁm%l
() Sqafet @1 Frmfor siadefa r wd & = fF o W/

(3) wwm%ﬁ@mmmwwmm1
mﬁﬂmm%aﬂtﬂﬁmﬁmﬁ%ﬁﬁmﬁmﬁmm%l

| 3 e § God o UG ¢ 2

4) g Gagl ol SR

Which of the following is NOT an mdlcaiaor of creativity in Mathematics ?
5

) Students use multiple and altem,ate PRI solving strategies.
(1

ents
(2) Stud " tluriﬁilé in different contexts.
e convergen L

ibl
(4) Students are able to think ﬂexi, y.

3) Students uS

@ e?
> -WWW
et & A 0 A e 7 e A @
) mﬁﬁﬁqaﬂt |
(1 3
2) ﬁ@ﬁqﬂﬂ@aﬁm 51 ST A € |
(3)

)

21
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: 5 3
57. Arun is three years older than Varun. Eight years ago, i th of Arun’s age exceeded s th of Varun’s

age by 6 years. If the present age of Varun is x years, then the value of x can be determined by

solving the equation :

(1) %(x +5) — %(x -8)=6 (2) %(x +§Eé %(x -8)=6
5 3 5 ;—; 3
(3) g(x - 5) — E(::c -8)=6 4) g(x —i&{; E(x -5)=6

3 5
(1) g(x+5)*g(x—8)=6 ) %(x+3)-—%(x~—8)=6
(3) g(x—5)——g(x—8)=6 (4) %(x—8)~%(x—5)=6

- Py ii‘ﬁ
f the following statement is NOT correct with respect to Rubrics as a tool of assessment|

58. Whicho
(1) Rubrics consist of a clear performance target fh= students.
(2) Rubrics make evaluation more subjective. K
(3) Rubrics hasa fixed scale. :i

f characteristics describingzggéormance for each point on the scale.

(4) Rubrics has a list 0
STher ¥ U WHA % w9 H o & T HeT T ¥ 2

frfafaa 3 & A F

(1) mﬁﬁﬁﬁ%m@wwE&q@m%l
) Wwﬁ?ﬁﬁ%wm%|

(3) Wﬁﬁﬁﬁﬁﬁmm%l 1.’":?%

o 37 P R T TR 1 ot et fedronel 6 e et &

(4) |
o ——— SPACE FOR ROUGH WORK / 1% @& & ferg wrmrg —
t[.r )
o)
(e
N
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59. The height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base

radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cylinder ?

(1) The new volume will be thrice the original volume.
(2) The new volume will be one-third the origifia‘i volume.
LR

(3) The new volume will be twice the original ‘;’;;:llume

T S

(4) The new volume will be half the original voiéﬁe.
¥4

ﬁr&ﬁﬁqﬁq%mﬁmaﬂ?mﬁﬁmm:%aﬂmcm%n Tfg SR foren smedt T S S
wﬁﬁréﬁ3cm_ﬁqﬁwﬁmaﬁﬂﬁﬁﬂ%ﬁwﬁm%mmﬁmm%?

(1) =7 STTFa e ST i g & e i
i g
(2) T ST S ST 1 - e € S| \

o
3) T ST A AT

]

LR N |
L
e

f52x3+4+ﬂ+7x3+5‘3z+33912‘5'

3) 0 4) >

4) S T S 7

60. The value ©

2) 21
o & (

i @159 @) 3

2 =
1 15 ( )E 7OR ROUGH V:OR-'E-{W SR RIS

“ & O

il
B \ ¥ - ¢ a, - )
A \/"'—,;L. |5-'---.;_
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Direction : Answer the following questions by selecting the correct/most appropriate options.

fdor:  frefafas 5o % 39 33 % 70 Qg /aad 3ugad fawed g

61. Discussion on socio-scientific issues in class helps in :
(a) developing argumentative skills in learners,

(b) developing multiple perspectives on an’issue

o w
%

(c) encouraging citizen science activities ==~

=

&y
(d) appreciating the role of society in development of science

(1) (c) and (d) (2) (@) (c) and (d)
(3)  (b)and (0) @) =@} (b) and ()

T H WIS T e TRl S &

(a) SAftrHRaisl ¥ ahuTa wivet o1 fowm w3 |

(b) Tordlt A R gl o faem = o

(c) =miter fomm deitht nfafafiml = ifa @ o

(d) ﬁﬁﬁ%ﬁmﬁmﬁ*@ﬂ%ﬂﬁgﬁ%ﬁﬁﬂmﬁ

1 © 3@ @ ¢®Y © 3 ()
(B) (b)) @ @) @) ik
Y §§ &5 (b) 3R (c)
62. (A) Metal oxides are basic in nature. ::
(B) Air expands on heating. ;5:}

(C) Lime water turns milky on passing carbondioxide.

(1) O-C1I1-ABD @
3) O-CD;I-AB €O
() -SIREE VE A wm e E, o
(B) = T B T e 3 &)

(1) O-GI-ABD ﬁm)%mﬁmﬁﬂﬂﬁﬁ
@) O-CD;I-AB {?) O-& 818, c E'ﬁ"*mwuﬁw
(4) OhB’C’I"AD

p-xx | OO0 A REARIE RO



) .

65.

64.

. 1
An object floats with _th part of its volume outside the liquid when put in liquid A and — . th part

of its volume outside the liquid when put in liguid B. Which of the following Stateme“ts is true ?
(1) Density of liquid B is greater than dens:ty of liquid A.

(2) The densities of liquid cannot be :.ompared on the basis of above information.

(3) Density of liquid A is greater than denmgy of liquid B.

(4)  Both liquids have same density. N

5:—-.

WﬂﬁWﬁAﬁmm%aﬁaﬁ’aﬂ%w‘mﬁm% 1 (T AUE) 9T H WY A q°;n

WﬁBﬁmw%m%ﬁ%meﬁ— (= <herd) w3\ el @ 1 FrEfetea §

¥ B T T Y2

(1) =9 B & 99, 59 A & ¥9a 4 feF T

(2) ST G F SHR WA F T F AN T H T GHA )
(3) Td A F1ENE, 59 B F A § SuH ¥

(4) S ES & HHE A € &

Which of the following is/are true regarding sc1enl:|.[1c investigations ?
(a) Results are not influenced by procedure

(b) Social context may influence conclumoné in“any investigation.

(c) Data and evidence are same. :{:i

d) There is no universal scientific method. ;» F

1) (a)and (©) (2) (c)and (d) ~ (a) and (b) (4)  (b) and (d)
ﬁmﬁrﬁaﬂﬁﬂaﬁﬂm/ﬂasnﬁﬁﬂawﬁ/ o H W e/R?

a) qﬁﬂmmﬁfamuqﬁﬁﬂﬁ@ﬁé‘l

Eb) wwﬂ/mﬁmﬁiﬁmﬁwﬁamm%l

e o e () W € |

©) Py aefedt) et faf T €

@ N ( 3R (d) (3)"3 (a) 3R (b) 4) (b) 3R ()
(1) (a) 3ﬂ-{ (C) (2) (C) ® _..

| tements is/are trumé‘“"
h of the fOﬂg::‘tglf:: ;inie only in bisexial flowers.
(a) Self Polil?lzwers can pollinate both bjy sgp}f’zd cmsi;1 [E;)Ilmat:::
Bisexua : (2 0 ) an are true.
(b) Both (2) andd(b()b ;"1‘; 5:11:: (4) [(aLis false and (b) is true.
(2) is”ge;; a1/@ F o TE &7 w)p
. st 3o CF) A9 ¥l
&t ol A SR & O e wd ¥
Wﬁ&”(‘ﬁﬁ)’ﬁ;a @) (a) 3T (b) 3 W@ ¥
(b) ﬁFﬁTI'F’ﬁ ‘g| (3) (a)ﬂﬁﬂfaﬂi(b HE R

#r (b)
a @ & (b) T
5 @ 5 | y
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Nhich of the following statements is/are true regarding Rainwater harvesting ?

a) It conserves ground water.
;'b) It reduces local flooding.

) It creates drainage problems.
(d) Itcan be used for irrigation of crops. g2

D @bd @ ®od @ 0.0 @ @@

Prefafad & A 1 T/ FeF Fui-ot a’tw%aﬁ?‘%ﬁ /&2

(a) E Y-l I TIE FA L ot
(b) IE TAMIG A I HH Ll ¢ | M~

©) ﬂ%ﬁﬁﬁﬁmm%ﬁmﬁﬁwm%ﬂ;

T
E

d) T9H ST wEEl w1 AR % fow fra s aEmd
1) (@), () (@ 2  ®) () (@) G)eLR), ®), (0 4) (. (9, (@

Which of the following factors are responsible for génerat'ion and flow of winds on the earth
@) Uneven heating of the earth

b)  Uneven heating of the oceans
) Distance between earth and sun
d) Gravitational force on the earth

D @ad®) @ @ad@ 3y @) (4) d
Wﬁ@ﬁqﬂmqﬁmﬂaﬁ%ﬁm@ﬂéﬁ“%mm%? il
(a) Y= 1 AfFEfE (WRedHg) qom s

b) WEErR H ACERE (Wad) e
() et iR & o it g i1
(d) T R [EEHYT g " x
(1) (a) R () (2 () 3R () O )

Read the statements given below and
Assertion (A) : The filament of an in
Reason (R) :  Tungsten has low resist .

(1)  (A) is true and (R) is false. Wit Sdhigh melting point,
(2) Both (A) and (R) are false, O

[3) Both (A) and (R) are frue and (R) is Correcﬁ"—eﬂi. 1 .

(4) Both (A) and (R) are true but (R) is I anation of (A).
Prerferfaa e 9 afg si L S e explanation of (A).
AHLT (A):  TF A woy Eo | :

. 9] (dq) =
(1) (A) B8 & 3 (R) 7om & T e &
2 (A) R (R) 3 Torg ¥ O

(®) (&) R ®) T ¥ 7 (g),
@) (A) 3R (R) I W ¥ R (R), (;)i"%wm%,

(LT




69.

70.

7 W

A gender responsive pedagogy in science entails.

(@)  Use of gender sensitive language

(b)  Engaging students in examining stereotypes
(c)  Making gender based groups
(d)

Using differentiated instruction and assessment
(1) () and (b)

(2) =fc) and (d)
(3) (a), (b) and (q) (4) Cﬁ% (<) and (d)
P i (20) e femaren s S #
(a) %ﬁuﬁfw(ﬁa)ﬂﬁwﬁw%‘sﬂrﬁ“
(b) mmﬁaﬁa‘hxmmﬁﬁﬁﬂﬁgﬂﬁmmﬁ
(€) fem (Sf=r) SRE T 9 =)y e
(@) TSdgn v o st B w2

M @ ) @ ¢ 3R (q)
3) (), (b) 3l (o) 4) (@) () 3w (q)
Which of the followin

(3)  Conduction is faster in solids than liquids.
(4) Two objects shoul

d be in contact with ther f
WﬁﬂﬁWWm%m%aﬁ%O%%;rheatﬂow,
(1) e e e g g :j ¢
(2) =+t wered (A s 9w 3 |
C) TS 9 8 st e gy P B S 2
©) W%W%m@a@aﬁaﬁw_@%. :

The purpose of divergent questions in science-claggr )
(a) pto I;Iammote critical tlilinking Ryefssroom can be :
(b) to discern between students

(c) to develop communication

(d) to identify gifted students .

(e) to identify alternate conce.pt'l(n:ls

(f)  to appreciate subjectivity in science

(1) (a), (€). (e) and (f) (2)

+(d), (e) ang ()
3) (a), (b), (d) and (e) (4) C?;g (b),
gfa;rmmnﬁ‘mm"wﬁfwai‘weﬁm%:ﬁ- (€ and (g

(a) AETFNHE (fad=aras) foa =) uﬁwxg‘ﬁ(m ) T e
(b)y forentedi # i it 3 = L{Ei

(c)  Hamm (W)ﬁﬁﬁ?ﬂwrﬁ oy

(d)_ wfavmmedt faenfeei &1 qemm w0 g

(e). HfCaF AAum= Fi th ol h

() T R

1) @ © (@ T2 O @), (o s
@) (@) ®), (@) 3 ()4 " @, 1), (¢ i

P11 (AR 27




72.

73,

74.

Which of the following characterizes human circulatory system ?

(1) closed, single circulation (2) closed, double circulation
(3) open, single circulation (4) open, double circulation
(1) o, THel e (2) ~Hga, Teead

: & . "
(3) forege, T W (4) ;‘_;ET“ fgamd=mt

(1) They can’t be challenged. —

(2) They provide reasoning for physical phiefiomena.

(3) They describe relationships between observable phenomena.

(4) They are formed from scientific theories. l
Freffan & & s Fri & o 8 B vl 82

(1) = A T8 < 1w e

(2) & viferes o 3 forg o (ferrer) e =6 ¥

(3) & SR TR T wee i W

@) & 3wt fagidl @ 5 € Y

|||lI'I[I

£

Read the statements given below and choose the correct option :
Se———— *

Assertion (A) : The rate of breathing in a@c animals is slower than land animals

Reason (R) :  Presence of large amounts of dissolved o
animals.

(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false,
(3) Both (A) and (R) are true and (R) is tfect explanation of (A).

(4) Both (A) and (R) are true but (R) is ndt-crrect explanation of (A)
Fpetfefiam ot 71 e Si Wd S b '

SR (A) : wuwﬁmﬁw%ﬁﬁw“mﬁ%
|

xygen affects rate of breathing of aquati

o (R): S H el g SRS 9 e i g
1) (A) T T (R) T £ ey ST 1 T < g ot 21
2)  (A) 3 (R) SH e € 0

@) (A) S (R) 3 TAE w0 (R), (4) % 5,
@) (A) IR (R) N wE ¥ W (R), (A) ﬁ%wﬁ%l



75. -
5. Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.

Reason (R) :  Sound waves after striking a curved surface get reflected in all directions.

(1) (A) is true but (R) is false.
(2)  Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is cbtrect explanation for (A).

(4)  Both (A) and (R) are true but (R) is ngt cc Ot correct explanation for (A).

AT (A) : Wmaﬂtwmﬁ-ﬁ@ammwél

T (R): @aﬁﬁmﬁm%ﬁmﬁﬁmﬁaﬁﬁmﬁﬁmﬁaam%u
(1)  (A) ¥& ¥ R (R) T ¥ plies

(2) (A) 3R (R) i Mo )

(3) (A) 3R (R) i wel & T (R), (A) FT W = ¥

4) (A) 3R (R) 3 T & WA (R), (A) FT T =0 T 2

%
g

Tl T

—t—
=

76. Which of the following is not caused due tosexeessive use of fertilizer and pesticides ?

(1) Eutrophication (2 i%&magmhcatlon

(3) Soil erosion (4) ¥Nitrification

ﬁaﬁﬁmmaﬁm%wﬁ%@ﬁwwwﬁm%v

s @) @ EdT
4) TSR
) T (4)
(@)

77. An odometer in @) T acceleration of the car

(4) Nstantaneuus speed of the car

(3) distance travelled bY .
AR ‘ o
Waﬂ{ﬁ mqmt (Z)MRWW(W)
(1) aﬁﬂaﬁaimﬂ-am(ﬂﬁr) (4)02_“3# ot
@ I SRR ) AT K
P11 llIIlIllllllllllﬂlﬂIII



. 78. Identify the mirrors on the basis of information given in the following table :

Mirror | Nature of image Size of image
A virtual and erect same as object
B real and inverted same as object
C real and inverted enlarged
D virtual and erect dumrﬁ?hﬁed

(1)
()
©)
(4)

A - Concave, B - Plane, C - Convex, D="Concave
A - Plane, B - Convex, C - Concave, D =*€onvex
A - Convex, B - Concave, C - Convex~P= Concave

A - Plane mirror, B - Concave, C - Copge D - Convex

FreAferfa JReft 3§ <t 8 Yo o SR TR IHH-H TE=H FifsI :

wfafara #Y ysfa nﬁtﬁtaaﬁf'amn

Dncu}%»

AT AR Feaie T % HAITET
IRl AR TG | T & THEEY
et 3 wfaaita faafga

ST ST SeAsfieff AT H B

1)
)
(3)
(4)

A - THT, B - 3, C - 35aad, D - S95E
AWBWCW‘E@D-_%
A - WHGE, B - STE, C - S, D - @

AWBWCWD:@

79. Three identical holes are punched at dﬁferentjgels (heights) in a plastic bottle. The bottle is filled
with water. Which of the following statenjépts is true regarding the flow of water from the
holes ?

(1)

us e # aaa § - wl (el

Water from lowest hole comes out with greatest force
Water from highest hole comes out with greatest force
Water from all holes comes out with equal force
Water from lowest hole falls at maximum distance
Water from highest hole falls at maximum distance
Water from all holes falls at same distance

(b) and (e) (2) (a)and (d é} (c) and (f) L g) (a) and (e)
HHEY (THET) foru o | siraet = g °

Tz T | ﬁmﬁﬁaaﬂﬂaﬁqmw%‘chﬁw (94TE) SR & T N T E?

(a)

fa=ray 9 @ T Afusad 99 & 9y
T=3q 92 A I ik o % Wy e

E;) mft BEf | O geE w9 9 et s [N
(d) e @5 § 1 sfesrad gt o fiven o>
() ~Fm ¥% & WA siferchem gt W fiem -
(f T SE | T gl e (@ -
@ @ MRE @ @M@ (3) (9 (@ 4) (a) 3V ()
p-11 M 30 K
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80. The colour of flame depends on :
(a) Nature of combustible substance
(b)  Oxygen supply
(c) Temperature of the surroundings

5_21@ TE:T) ;ﬂdﬁgi{)m %(:2) (a) and (CI:-T-, (3) (a) only (4) (b)only
(a) & wEd Fi WHh W -
(b) AT Imgfd W xS
() 3TH-UH & AIHH W {;j_ig
1) @G @ @wE? @ FWe @ FOO

s - r“-ﬁ . -
81. A class VII teE‘lcher plans to identify alterriate conceptions of students in the topic “Adaptations In
plants and animals’. Which of the following sets of strategies is best suited for this purpose ?

(1) Diagnostic questionnaire, interview, drawings

(2) Project, checklist, drawings

(3) Drawings, checklist, interview

(4) Portfolio, group discussion, diagnostic questionnaire

o 3ie ra-genl B — e L

ey VII &1 T e

e F H A S %wfﬁ:@ﬁmﬁf@amﬁﬁﬁawﬁﬁﬁﬂ—mmm
i e\l

1) Serforer AT, TIATER, Wiﬁ?ﬁ)

@) mﬁﬂ(qﬁu‘rﬂ),fﬁﬁ— ,QWEWEW)

: _gt, TeeEh
3y @™ (Femi), -l _
O s (), <, e

(4)
: d notes down the observations.
= s a piece of potassium metalina beaker?of cold water and no

82. Sumt:l d.tl':og1 " ffllowiﬂ pservation is not correct !

Which © ] p

(1)  Hydrogen & i "—“;"1"“1

5 pop sound BN 0 g with bt
( ) A acts VIOIQnt y ,“f;-gﬂ
@) DT action: e qon s ferad &1
ic ré : "« [
It is endother™” g 155 =

(1) > foffrn o €1
& i 19 F°
fee ¥
3) M@ﬁmgl
iy - =
i
Djrnmmmwmummwn



Following table depicts colour changes in acids and bases when various indicators are added :

83.
Indicator I—E;lour change in acids | Colour change in bases
| Turmeric No change A
China rose Dark Pink B
Phenolphthalein C Pink
Methyl orange D Pink

=5 G

e

A, B, C, D respectively are :
(1) reddish brown, pink, orange, colo
pink, colourless L

Y

(2) yellow, orange,

(3) reddish brown, green, colourless, o%nr%e
4) yellow, green, orange, colourless
ﬁm%faﬂwﬁﬁfﬂﬂ@ﬁ%@éaﬁmmaﬂ?mﬁﬁﬁaﬁwqﬁaﬁ?aﬁﬁﬁﬁm%:
B
LS
]
goal
<A1 T
RIS
| TR
A, B, c, D %A%k €: ,;:::
q) g, st (TN y
P opereh, T e
o), wEE i
(4) ' O
— perms of a man fuse with two eggséié woman. T'h(.e twins formed are :
84. , jdentical OF fraternal (%) j..ialways conjoint
1) may be - |
( 'dpnti‘:al €I aternal
(3) ’émﬁﬁa i (st) 0 e foeth &1 5 ot e @9 €
CaCUR el :
g e AT B awd ¥ (3 yTe W
1 @) wrE

L
32




) 85. i ing i
' Which of the following illustrates “science as inquiry” ?

(1)  List five uses of coconut tree

(2) Observe the types of venation in various leaves

(3) Classify the given plants into herbs, shrubs and trees

(4)  Explore factors which affect the rate of germination in gram seeds

Frefafes 4 & 9 w ‘Sie-veam %t 7w e @ fafa ww §2
(1) e ¥ U (qw) ¥ i T e

(2) ﬁﬁawﬁﬁﬁmﬁm%uﬁmmm

(3) WWW(M)WWW@%ﬁﬁWW

P

4) Hﬁﬁ?ﬁhﬁﬁmﬂﬁmﬁwﬁamﬁwmmm

T

,-—-ﬂe;.a}

86. Read the following statements and choose the correct option :
S1 - Photosynthesis is endothermic reaction.

S2 - Respiration is exothermic reaction.
(2) Sl is false and S2 is true.

(1) Slistrue and S2 is false.
(4) Both S1 and S2 are false.
F )

(3) Both Sl and S2 are true. ;
3 e e R S T
51-9%@@5@%31&%%1 .

e

. - Ty
(1) smﬁ%aﬁtszwaa%u (ztf«glnaa%aﬁtszqa%.
Hog B_n.{ & %
51317152&\?'7?{@%! (42:’5-1 o SR e

3)
ctivities is pest suited to develop inductive reasoning, ?
ga

Whi the followin,
o y Of' Jaws of reflection EXPEﬂme“tauy
(1) VE'lr1f}’nmﬂeﬂcal problems pased on law of reflection
solve flection
) tudents O gtate 1aws RETCISS P es of angle of incidence in a
‘ (3) asking 8 measure angle ofr jgechon or various cases g
. dents to
asking st <

et 4 a?l
ﬂ‘@ﬂﬁﬁa%z—;ﬁmiﬁm) qeeel H @ w0

(]’) maaqa;ﬁﬂ“‘mmﬁa = fetll el

a7
; WME&W%W o e e 5 e - A fee e
" : gy A o & AT
(4) frenfd 33 |
\IIIIMIIHINIIH\III [
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88. The atomic number of A is 13 and the atomic number of B is 17. The chemical formula of the
compound formed from A and B could be :

(1) AB, (2) AB 3) AsB (4) AB,
A 1 CA-SFHT 13 & q B o1 T i 17| Aaﬂwﬁﬁﬁaﬂ‘rﬁaﬁmwmﬁang@fm%;

(1) AB; (2) AB 9 iﬁ:_ (3) AsB (4) AB;
]
89. Read the statements given below and chUase the correct option :

Assertion (A) : Itis recommended thalizqd should be added to water for diluting the acid and
not vice-versa.

Reason (R) : Dilution of acid is a hlgl}ly exothermic reaction.

(1) (A) is true but (R) is false. e

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not correct explanation of (A).

e e i S W I T O

SRR (A) : o1 arRitaa & f o b %mﬁ%mmﬁ e T S =ife A i e ¥ @

& () : mmw(m)@wwmﬁmmm%,
) (A)ﬂé’r%m{mw%a ﬁfj
&) (A)ai‘ﬂtmaﬂ"w%u Y

(A) R (R) S =& € 7 (R), (A)ﬂafﬁqﬁrmﬁl
(A)mtn)ﬁuﬁmm (A)ﬁﬂﬁmqﬁ%-.

(3)
(4)

Which of the following is not a feature of alternate conceptions in science ?

90. (1) Ideas are developed from Obsewaljg fealllcd
(2) ldeas do not demonstrate cause fffect reasoning.
(3) [deas are stable. ﬂt, )
(4) Ideas are resistant to change. q‘;ﬁ
ﬁm@ﬂﬁﬁﬂﬂmmﬂﬁmgammﬁmﬁ%)
) f@m e el @ freafim e €
) ﬁaﬂ,wﬁgﬂﬁﬁﬁmﬁ.ﬁmgl
3) ek
@) faal qftadA et & €1

gy -



IMPORTANT | Wgwaqvf :

Candidates have to do questions 31 to 90 EITHER from Part - Il (Mathematics and Science) OR from
Part - III (Social Studies / Social Science).

qitenferar &1 gy 31 @ 90 AT @ 9T - 11 ( T F A7) 3 W - 111 (@S SEaaT/ amifaa

faarT) @ & &1
PART - 1l / 4T - 11
SOCIAL STUDIES / SOCIAL’:SGIENCE AHIS Wlmﬁmﬁaﬁ

Direction : Answer the following questions ?Jyhjéelecang the correct/most appropriate options.
Frdor : ﬁmﬁ@am%mﬁ%mw&%ﬁwwgﬁv

The Government has passed laws_ that made it mandatory for organisations with more than
women employees to prcmde creche facilities.

1) 25 2 30 ¢ (3 10 @ 15
FER A U8 FF Oia fohu & e 37 Sl § sreraret (Gha gfaen) sifar frar & sl afeen FH=nfEt
&I & T 1fees B

1) 25 2) 30 3) 10 @) 15

31.

F.:—-"-‘t..

The Indian National Congress in t‘ruz,,garly years raised a number of economic issues against the
British. Choose the correct option. CA3
(i)  The Congress declared that tl:é_B't;nsh rule had led to poverty and famines.
MY
(iij) It demanded reduction of reverﬁl‘é and cut in military expenditure.

(iii) Congress demanded more fund.ﬁ.‘;if_or irrigation.

32.

[ Ay
(iv) It raised the voice against entérainment tax.

(1) Only (i), (i) and (iii) are correct (2)  Only (ii), (i) and (iv) are correct

(3) Only (i) and (ii) are correct (4)  Only (ii) and (iii) are correct
s il e g et A S & Pt A Wit ST TR S| Wy e <
(i) mwmmﬁawﬁﬁﬁwﬁm%mﬁﬁnﬂaﬁaﬂwmwﬁgi

| (ii) mmaﬁf&:mﬁwfﬂlmﬁwﬁvﬂwﬁmaﬁm;

mmaﬁmmafwm' T 7 |

(iv) mwmm‘f@wmm|
(1) Fad (i), (i) T (iii) T E | (ﬂ,(z) R (i), (iii) T (iv) T F
(3) e (i) TH (i) Wt ¥ (4) e (if) WS (iii) T ¥

S T 35

- R o




33. Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(a) Lithosphere (i) Plant and Animal Kingdom
(b) Hydrosphere (i) Made up of rocks and minerals
(c) Atmosphere (i) Various sources of ‘water
(d) Biosphere (iv) Thin layer of Air 1‘*
1) (@), B)-(v), ©)-6) (d)-(i3) oo
@ (@-@v), ®)-0) ©-) (d)-(ii) -
@) (@-G), O)-(), (©-(H) (d)-(iv) " s
@) (a)-i), O)(), ©-v), (d)-() e
St § @ 9@ sitedl Ft e HifC :

gt & HeH CHEGL
(a) THCHSA @ 2 TRuw Sa-Siq
b) Semesd ) TeeHiTd Gl @ S g
() TIHSA (i) < o i | ()
@ SaHsd (v) @ el T .

(1) (a)-Gid), B)-v). (©)-(), (d)-(id)
@) @-Gv) (b)-(i), (c)-(i), (d)-(iiD)
@) (a)@ G- ()-(ii), (d)-(iv) post 4
@) (2)-): (b)-(iid), ()-(1v), (d)-() ;

34, Which of the following is true about Ashoka’s d}mm;‘;’f 2
(a) It did not involve worship of a god.
b It did not involve performance of a sacrifice.
(© The ideas of dhamma were inspired by the teachings of Bu(idha
(d) Ashoka appointed Buddhist monks to teach people about dhan;ma
Choose the correct option : == :

(3) Al @) ®) () and (&) 3 | b (:g a(:)d t) ©)

Frferfan A 8w T o v wd R
gﬂﬁfﬁﬁmﬂﬁwﬂﬁmqﬁ &t Ei,\

(a)
o) e o el s A o gy L
(©) oy 3 T 9% % gueel 4 AR 4 iw

qy o e TR R e ) s g g
ady fased #1 T4 i |
(1) #aa (b) 941 () (2) Faa (a), (b) @
’ (©)
@ @O0 @y (4) e (a) TN (b)

p-1I g .



. 35. Below are two statements (A) and (B) in the context of leather workers in 19% century.
(A) During the First World War there was a huge demand for shoes for the armies.

(B) The poor people from ordinary castes saw this as an opportunity and were ready to supply

shoes for the army.

Choose the correct option : D

P— '
(1)  (A) is true but (B) is false (2; (A) is false but (B) is true
(3) Both (A) and (B) are true ¢ @) Both (A) and (B) are false

A4 A B (A) 3R (B) 199 vt F R e Y A % geo] ¥
R
(A) mm@%ﬁmﬁm%%ﬁﬁiﬁwnﬁﬁmﬁnﬁ ot |
(B) W= Sl ¥ THim Al 3 7 s aﬂiﬁm%@sﬁaqﬁf%‘smwaml

W fashey &1 =97 =4
(1) (A) ¥ & A (B) T & (2 (&) T R AR (B) wE
(3) (A) SR (B) I W & (4)  (A) ¥R (B) I T ¥
£
36. C’I;}}fedMughal revenue system with m; gn schedule of revenue rates for individual Crop was
(1) Zat @ Iga  &7% (3) Jagir (4) Zabt
mwwmﬁam%maaﬂw@mnﬁamg :
(1) sm (2) = ggmam @

37. The rocks that were formed 300 million years after the earth was formed, is -
(1) located in Eastern Europe
(2) located in the Himalayan region
(3) considered as youngest rocks in {i€world
(4) located in Western Australia ”:'*J

et 1 i 4 9 meaﬁﬁwfw%&pﬁmﬂmaﬁ £

)
(1) oot g0 H feem € iy
(@

@) qﬁaﬁ’ra@iﬁmﬁﬁﬂﬁﬁ

PIx gy

37
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38. Match the following concepts in Column - I with their examples in Column - IT and choose the
appropriate option :

Column - 1 Column - II
Concepts Examples
(a) Discrimination (i) Differential pay for same work
(b) Inequality (i) Villagers are superstitious
() Stereotype (i) Womannotallowed tobe hired since she is starting a family
(d) Prejudice (iv) Girls are good at cooking

(1) @-Gv), B)-(ii), (©)-(), (d)-[D—=,
@) (@~ 0)-6) (©-6v), (-G
@) (a)-(i), (b)), (©)-(), (@)-Gv)__
@) @-Gv), ©)-G), ©-0), (d)-GE),

w-lﬁmﬁmﬁﬁwmﬁ@—nﬁmmﬁmﬁﬁwmaﬂtwﬁm

EGRE —
Wy -1 Z;'Ei.l—ll
(a) 9_E () w9 %E & fau otem o
(b) STEHE () TETER ufavard §
() Efgared (i) Tﬁ?mﬁa@ﬁﬂﬁ%aﬁﬁﬁwﬁmﬂﬁmr@%m
ki
(d) gEEReT (v) | Srfma Er o e T Y e

(1) @v), O, ©-6), @6
@ (@), b)), ©-Gv), (@G
(@) (@), (0)-0), (©-G) @-Go_,
@) @-v), (-G, (-6, (@-Gh

39. Which of the following is/are cor{_;g(::gly matched ?

Crop Required Climatic Condition
(a) Coffee - Cool and d‘; elimate
(b) Tea - Warm climate and high rainfall

Choose the correct option :
(1) Both (a) and (b)

(3 Only (@) & ‘;;;*;“;;;a) nor (b)
ﬁﬁﬁﬂﬁm]ﬁﬁiﬁwwmﬁ%/%j
AT ety
- o
(a) FH - FE R ey
(p) =M ! Sy 'W‘m a1
. af faged & 994 Fife \
(1)  (a) @41 (b) =l l{_ ) "
(3) Fa (a) O @AM (@) 3R @ ()
g: W )
)
porr (WA .

38 ? |




' 40. The category “erstwhile princely states” was applicable :

(1) in the post-1956 when they were no longer retained as administrative units.
(2)  to none as no such category existed in India.

(3) at the time of Independence around 194748 only.

(4) Dbetween 1947-48 and 1956 when they were recognised as administrative units

‘vqe Rara’ goft &y o -

(1) 1956%mwﬁ9mmﬁ$mgﬁ&;mﬁgﬁmqﬁ@nm

(2) T o i T i v § A g Soh e @ AT

(3) Al F Y FaE 1947-48 F 39 TH | }Ej:;

(4) 194748@1956%%@3%%%3?@#6{2%&&1

e
41. Match the following in the context of people and objects in aficiént times and choose the appropriate
option.
A B
(a) Barygaza (i) Stamped red-glazed pottery
(b) Shrenis (i) Bharuch
(c) Arretine ware (i) Independent farmers
(d) Grihapatis (iv) ~Associations of crafts peﬁs and merchants
1) (a)-Gv), (b)-(ii), (©)-C). (d)-(i1) )
) (a)-() (b)-(ii). ()-(iv), (d).(?) %
@) (a)-(i), (o). ©-0) (CZ)(*:’; -
. (b)-(iv), (c)-(iii), (d)-0 s
4)  (a)ii), (B)-(V). (c e e S |
s 3 i = g e A A g i reonsg Ul
B
A 0 -
» Q) el @ el aaFer gd-
(a) AP - |
o Al
(c) e ) fareandl A4l arqifedl & ¢ J
apeafd )
(d) 4l W (d)-(i) (n
(a)-iv)y @A) O &
g; (a)-(i) (b)-(13) (c)-{iv.;, :d;.(m) N
. (b)-(1v)s (c)-(0)- . =
3) (a).(u)f (b) i) (d)-0) O
4y, (b)-(iv); ( ”
@ (@ 39
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42. Archaeologists play an important role in deciphering history. Which one of the following choices

is incorrect about their nature of work ?
(1) Look for bones of animals, birds and fish
(2) Examine the written records

(3) Study the remains of buildmgé;;—lg';intings and sculpture

g

(4) Explore and excavate tools, wea_;pens, pots, pan, etc.

Wﬁ@ﬁﬁmaﬁﬁwﬁ/@ﬁmww siftrem faum €1 Frfafea ® & 3735
T Wt AR

i

(1) e, wfeE, Tt # e fgE gemn
(2) fofea amef (S =it s

3) e, fell (AfETR) e ki & STt W AeE

(4) i, eforard, s, 39, onfe @t Wit % forg o-si iR g

==
T =

43. The opening time of Central Govemgent Offices in India is 9:00 a.m. IST, what will be the local
time of opening of the Central Govérimhent Offices located at 80° East Longitude near Chennai

and 92°45' East Longitude near Itanagas respectively :

e RS

(1) 08:50 a.m. and 09:41 a.m. resp:‘é,ggtﬁ;rely
(2) 09:41 am. and 08:50 a.m. respectively
(3) 09:10 a.m. and 08:19 a.m. respectively

(4) 08:19 am. and 09:10 a.m. respectively

T # FEa TR e 2 e T GAE o 9:00 T ST (SR HH T t A
FH: m°ﬁ%ﬂmammn%ws'géwa?wﬁwﬁﬂwmﬁwﬂ
TG AHG FHHL: 9918 2 o

(1) %H9: GIE % 08:50 991 a4l ga;;}g:an EE|
(2) FHN: GAE F 09:41 5 91 gai_kg?p&so T
(3) FH: FAT & 0910 7 a1 qa%‘;ps:w CEl
(4) FHA: GIE F 08:19 791 991 Go® & 09:10 73

P-1T [NER R 40




44. Women were taught at home in nineteenth century colonial India because :

45.

46.

P-1

T

(a) they could study as well as do domestic duties.

(b)  people believed that going out in public places would corrupt them.
(c)  people wanted to hide the fact of their education from relatives and friends.
Choose the correct option

M ®and@© @ @ OadOCH @ad® @
SEE e & siafrafors wRa § erefhdl @) TR € g S o1 i
(a) 3 e ¥ Wy we T T,

(b) T EER & o e T ST @ T S

() i aTd weiferel el o & e feren 0 T e

W& fawey %1 w9 w5 B

i
L& P
-

(1) (b)) @ @ OFEQ @ @RE) @)

(a) and (c)

(a) 3 (c)

Which one of the following is not correct for grama-bhojaka ?
(1) The king often used him to collect taxes from the village.

(2) He did not function as a Judge and policeman.
(3) Usually, men from the same family h%}dgtpe position for generations.

(4) He had slaves and hired workers to cultivate the land.
ﬁﬂfﬁf@ﬁﬁﬁaﬁqmm-wa;m@@%?

(1) i 1 R e P T sy € 6 &3 9

5 et s v = T AW AL
m@ﬁqﬁaﬁaﬁﬁmwmmﬁgﬁﬁ?waﬁwﬁ 3
gﬁmmﬁmaﬁwwﬁﬁl

and (B) in the context of Shri Narayan Guru.

f all within a single sect or caste.
have faith in all gurus.

(2)
3
4)
two statements (A)

(A) He advocated equality ©

(5) He inspized all o (e
Choose the correct optm.n f'aIse (2) CIA) is false but (B) is true
1) (A)is - (1) <Both (&) and (B) are false

Below are

‘ T3 e & if (B) ¥ &
g 1 T 7 ) Sy e 3 O
w o (B) ™ g (@I T

A) it (B) < 41
IIIIlIIIIIIIllIl

@)




47.

48.

Match the following pairs and choose the appropriate option :
Rocks Origin/formation

(a) Igneous Rocks (i) Change under great heat and pressure

(b) Sedimentary Rocks (i) Molten Magma

(c) Metamorphic Rocks (iii) Deposition by wind)and water

1]

Choose the correct option :
(1) (a)-(iid), (b)-(0), (0)-(i)
@) (a)-(), (b)), (©-(i)
(3)  (a)-(i), (b)), (c)-(ii)
) (a)-(i), (b)-(ii), (©)-0)
Pt el 1 foe R iR SR forped A I

|

|

. Sl A
U W R :ﬁj,

O

18|,
'lF 3

e Frafyfrion
) T @ 3 R S
b) A i) g ::;Ef

£ i3 3
() wmEmrE I (ii) %?ﬁwaﬁ%zm Wﬁ@wﬁmw,wmﬁq
wé fased 1 =97 exd {E
1) (@) (b)-(), (c)-(i)
2 (@@ (b)-(idi), (€)1
@) @@ (b)-(i), (c)-(i)
@) (a0 (b)), (©)-) ESE
Jayer of the atmosphere has very thin Iayer%{é’ir ? h
sare 10 Mesosphere qummp e iy Eesphen

(1) GtratoSP " a@mwgﬁ%? >
Wﬂm (2) "I o) G () afete
@ T ) o




49, A Population PYI'aImd ”
(a) High bip, oy 1th big base and skinny top shows
(b) High death
(o) Relaﬁvely lal;atss n higher age group
(d)  Large numbef O:‘;mber of young population
eaths of ;

Choose the correct option . O Infants
1 :
(1) onlY(b)»(C)and(d)
) Only (a) and () (2)  Only (a), () and (d)

(4)  Gdly (a), (b) and (c)
T IS MR R Tareht <t sren <o el c
(a) SIS i
®) TS o 7 4 v g Lo
(©) TR w9 § 1o 4 seien :}
(@) el § gy 7 st <x/den G5
& Tase =1 =g oY
(1) % (b), (c) 7 (d) (2) %9 (a), (c) 70 (d)
(3) A (a) T (b) (4) 9 (a), (b) 79 (0)

50. Consider the following sentences (A) and {B)';’;‘it motions of the Earth and choose the correct

option :
(A) Rotation is the movement of the earth

(B) The axis of the Earth which is an ima
plane.
se the correct option -

(2)

ofn
g

gmary

y its axis.
.

=

l
J

' line, makes an angle of 33%" with its orbital

'
B

.
=
=
& 35
Temnl oF

Both (A) and (B) are incorrect

E[l;oo Both (A) and (B) are corect (4) Only (B) is correct
(3) Only(A)isCOT.feCtTm ol (A) T (B) T Foram ¥ aen WE foshed 71 7=
et o el B A e i
(A) gedll F e ,{_@T%Gﬁmﬁ@mﬁﬁ 331", %1 o1 SR B
ot 1 s AT i
- o1 A H @ gafm) e (B) et &
:f 2 (8) ﬂ:ﬁiﬂ) *) ?j?’ Ll
) ad (B) 437

[]
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I 51. Which of the following statements is/are true about technological devel i ‘
construction from the twelfth century ? o RAPHISEE s
(@) The weight of the superstructure was carried by the shikhara.
(b) Sandstone mixed with stone chips was increasingly used in construction.

Choose the correct option : O

(1) Both (a) and (b) are correct “2)! Both (a) and (b) are incorrect

(3) Only (a) is correct {(4)y Only (b) is correct

Wﬂﬁﬁmwmwﬁmmﬁmwmﬁmtﬁm#aﬁﬁm
? AW

(a)  sfercer = R fomerl R STt fe <t o
(b) Formion & Ssn-geer o TR % D Zhel % g0 F1 I § el B o
el

W& faweq =1 =71 # |
(1) (a) 3R (b) < W&t § @) (a) 3R (b) S TR T &
(3) Fac (a) T T 4) Faa(b) TR
52. Who among the following edited newspaper Kesari which became one of the strongest critics of
the British rule ? O '
(1) Mahatma Gandhi -(2): Lala Lajpat Rai

(3) Jyotirao Phule 5(15-'; Balgangadhar Tilak

freferfad § § I ER A TGS, S (SN A 1 FgL S o7 T oA, FHAH o 2
(1) T e el BRGISIRSIERCRG]

@) wEfeE B ) AR foe

Which of the following statements are ééa%d about Amazon basin ?

(a) This region is characterized by hot and wet climate throughout the year.

(b) People practice ‘slash and burn’ agriculture.

(c) People mainly grow paddy.

(d) Aircrafts and helicopters are also used for reaching various places in the basin.
Choose the correct option :
(1) Only (a), () and (d) (2); Only (a), (b) and (d)
(3) Only (a), (b) and (c) Only (b), () and (d)
ﬂﬂmaﬁﬁﬁaﬁﬁﬁﬁﬁﬁﬁﬁﬁaﬁq@‘; wE e ?

(2) o o 7l T SR T ey Wl w5

(b) qﬁf—hﬂ‘ﬁﬂ'ﬂﬁ’?ﬁﬁaﬁl E"“-—.;)

(©) ‘eﬁﬂﬂ'@?ﬁ:mm%l “‘:5“
d) wﬁﬁwﬁwqﬁaﬁﬁm@wﬁwﬁ#@mﬁmmm%l

53.

u—gﬁmmwaﬁl
(1) & (a), (c) I (d) (2) &9 (a), (b) T8 (d)
@) Fa (a), (b) T () (4) &9 (b), (c) 9 (d)
44 K
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54. In a physical map of India if you have to locate the Deccan Plateau, it will be represented by the
colour :
(1) green @ yelio (3) orange (4)  brown
Wﬁ%%mﬁqﬁwﬁmwﬁmqﬁ@%ﬁ & 16 31 @ zafar w2 )
1) Q) e G) @ @
=
% Choose the measureg t0 contro] go €rosion and depié:%n from the following
; L3
(o) Terrace fa:mjng (d) Inter %:; ing
Choose the Correct Option
(1) (a), (b), (d) DI‘lly (2) (b), ( C), ( d) a I'lly .
(3) (ﬂ), (b): (C) only (4) (a)' (C), ( d) Ol'lly
£
ﬁ%@aﬁ@wmﬁn&ﬁwaﬁﬁqﬁa %mwww
@) o g ®)  afy ;Rjg“:
©) 3w ot @ ot
LT a
B
WE fargeg T &Y %
O F5 @), b), ) @ ®), (©), (a)
®) ¥ (a), b), (g @ & @), g @
5. Who coined the phrage, “Unity in Diversity’ 7 )]
(1) Subhash Chandra Bose (2) Sardar‘?;;llabh Bhaj p,,
®) Pt Jawaharlal Nehry “ MOha?éaf Karamchand Gandp;
fiern & v g et 2 %
e
(1) gz 3 3 2 W@H%%%
G sfed o S 4) %mmarﬁzﬂq
45
U g

. I




A

57. Consider the statements (A) and (B) about Paramountcy and choose the correct answer :
(A) The Company claimed that its authority was not supreme.

(B) In order. to protect Company interests it was justified in annexing or threatening to annexe
any Indian Kingdom.

(1)  (A) is true but (B) is false (2) #(A) is false but (B) is true

(3) Both (A) and (B) are true ()W-Both (A) and (B) are false
(A)aﬁ?(B)mﬁmaﬁﬁm%mﬁﬁﬁaﬂﬁﬁ%ﬁaﬂwﬁmmwﬁm|
(A) w%mmﬁmﬁwaﬁ'ﬁw

(B) mﬁ%ﬁaﬁm%m%wﬁamﬁaﬂaﬂuﬁmmmmﬁwaﬁw%w
s S o T A o =

1) (A) F@ ¥ AfHa (B) Tew 2) (A) e § afe (B) T
(3) (A) it (B) 3 w& ¥ @)  (A) 3R (B) I T T
.eﬂg_:-g

58. Consider the following statements about La@gkh and choose the correct option.
(a) Several rivers flow through I..adad(h.j;ﬁe;‘;;!";E
(b) Due to high altitude, the climate is e?&éfnely cold.
(c) Despite being in the rain shadow of ﬂﬁalayas, there is high rainfall.

(d) This area experiences freezing wmdsﬂgrfgi burning hot sunlight.
(1) Only (b), (c) and (d) are correct (2) Only (a), (b) and (d) are correct
(3) Only (a) and (b) are correct (4) Only (a), (b) and (c) are correct

e % A # fou P e W e i g g faeed # g it
(a) oTERE @ G g W Afed wedt €1 O
~J
(b) ﬁwﬁﬁﬁﬁ%mwﬁﬂmﬁ%éﬁ%i
) fearem & gfe s dadEnF et =g ol urE Sl € |
(c) gftz mﬁﬁ%%%ﬁ s
(d) TE 4 TETA B U 9 S el e STV i ¢ |
—e

(1) 9@ (b), (c) 91 (d) Tt ¥ (2) €37t (a), (b) TN (d) ¥ &
(3) eI (a) AT (b) TE E | (4) el (a), (b) 91 () T T
.8 o a1 T 46 K



/59. Consider the two oj
(A) : Those placz glv:en statements (A) and (R) and choose the appropriate option : ’
(R) : The Earth rcft tEStf of Greenwich will be behind of Greenwich time . \
ates from t . . ‘
(1)  (A) is true and (R) is falesaes to west and sun rises early in eastern side.
((;)) gott: (A) and (R) are false
oth (A) and (R :
(4) Both A) o (R) are true and (R) is the correct explanation of (A)
e, . (R) are true E’Jl;lt(R) is not the correct explanation of (A)
FEl (A) T (R) R foram M 7o T foehed &1 g7 FifC)
(:) : S ¥ i & e § € e v e @ S @
(R) : Yeait gdf & ufyem =i mwm%amqﬁtﬁﬁwﬁmm%l
(1) (A) F&@ & @ (R) e &1 1

(2) <HI(A)TN(R)TEEE
ST (A) 791 (R) HF'T'%W(RJQA) 1 T T

3)
@) 2 (A) 3N (R) T ¥ g (R), (A) 1 T TR T
60. Watan Jagirs were given by Akbar to which of the following chiefs ?
(1) Sisodiya Rajputs (2) Indian Muslims
(3) Sikhs (4) Marathas
srepe 3 Frefefad & & fF T & T ST fe ot ?
1 R < TS ufﬁ () R qHEHA
. Lad () U
(3) Tl €T (
61 A 11 desigﬂed porl:folio assess%e?t in social sciences should be :
well- gl
. tic
oseful s ﬂa:fihd activities of student

(a) p urp : ents. aIk
reflect regular aSEﬁ:‘“;gpag_r- Aion of report card .
P ong period of time

(b) .
(:i) zfzzz;r;a;;ii (())I; student’s work over a 1
((213 ose the correct option e w.
(1)0 (@), (©) and (d) & oo a“;‘ﬁ(d
(3) (a);r_a(;?q a;clg)ﬁ aﬁig}m s .
Iy
s T o T

® G T FE i

et T e ._N

off . A ) @), (b) aer () :

@ B e d
uﬁﬁaﬁim () O w ®O L

(1) @ ((;)) o1 () 47 k
3 @

a0



i 62. Project method in Social Sciences involves

63.

(a) Activity (b) Discussion

(c) Experiment (d) Narration
Choose the correct option :

(1) (a) and (b) only . (2) (c) and (d) only
@ @ ®and© o @ (@) () and (@
e fo 3 R g e ¥ |

(a) Tiafafy ;mi (b) ==

() wEm & (d) @
L. >

(1) e (a) 741 (b) (2) A (c) 7 (d)
(3) (a), (b) T () @) (a), (c) 9 (d)

se the correct option.

Consider the following statements and choo
al areas can reduce the rural urban

Investmen%éan non-farm activities in rur
migration. ..

Statement (A) :
Statement (R) : Migratiori increases during particular season when there are no agricultural
activities ﬁgg?gral'al‘eas-

(1) (A)is true but (R) is false’
(2) Both (A) and (R) are iﬁ
} 2
(3) Both (A) and (R) are true and (R) is the correct exp
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)
ferefetfiaa Feri W famm st SR we fadmed 9 :
FIA (A) : mﬁﬁﬁ—gﬁﬂ%ﬁfﬂﬁﬁﬁ%wﬁwi@wﬁﬂﬁ
F9 (R) ; @ﬁﬁmw%ﬁmwﬁqﬁ@?ﬂ%wm eI IR
@l A
(1) (A) 5 & @ (R) n;a;
() (A) T (R) 2 erg B2
(3) 8y em e 3
) (A) 3 (R) ZH wé %;%(A)aﬁ(u) Tl AT L B |
(4) (A)@R(R)?ﬁﬂﬁ%ﬂ%m)aﬁ(n)mﬁmqﬁm%l

lanation of (A)

fafafeal 78 @

P11 WMy 48



64.

65.

™ ww

Which of the following questions assess the analytical aspect of the cognitive process ?
(@ What are national curricular objectives which can be achieved through heritage projects ?

(b) ::3: ars methods of history useful in the research of (a) science; (b) art and management
ies ?

o many regional languages and local dialects “VividhBharati" programmes
are broadcasted ?

(d) Write a review on two historical serials you have watched.

(e)  What are Bharuds ? In which region / State this is popular ?

Choose the correct option : 1

(1) (@), (b) and (d) only 7,32 (c) and (e) only

() (@ ®) ©and@only 3@ () (O, @ and () only

frafafaa § 3 F9-3 79 FameTE SR % fremored 9 # w2

(a) awmaﬁww%ﬁﬁ;mﬁﬁq@wﬁ%mwﬁa‘ (Suifsta) fepam s s
sferera =t W(a)m;@)%ﬁﬁﬁ 15T % WY W hY TeHE € 2
‘faﬁwna“r’mﬂm’fa%mﬂ"r Sty wTeedl e T Siferdl # g fohar T o ?
amma@maﬁﬁgmmmw“ﬁﬁﬂw

e s &7 P &/ ¥ T A €7

(b)
©
(@
v =gq B

£ £
2? ﬁ;:* (@), (b) R () “ﬂi(z) 9 () aﬂ'{:(e; w
(3) Fa (a) ®) (c) 3R (d) ) Faa (b), () (d)

P .
sclrl%-#ﬂ'(l{;5 statements and choose the correct option.

a -
d fte ged to ask questions in the classroom.

Rasliiae ; hould be?rEOura -
Assertion (A): ) il help . mﬁaveﬂ students to open up-
R) : ' L5
Reaso(l;)( 1: rue but (R) is fallsse‘; '
(1) (A) and (R) are false d (R) is the correct explanation 'of (A).
c (A) and (R) aré true ant (R) is not the correct explanation of (A).
(3) Both and (R) aré true b:m o i S

Assertion (A) an

mlll:llﬂlllﬂ“lllliwlll
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66.

67.

68.

p-11 (R

Which of the following may be acquired by learners in a project work that involves engaging
students in authentic, real-world problem-solving tasks ?

(1) Enhancement of creativity and innovation
(2)  Promotion of collaboration and team work
(3)  Development of critical thinking skills —
(4) Improvement of content knowledge and skills
frad g N SRS e forerdt BT 3w -iredfaeh G 7 SRS % gRT et e
T wh § 2 o

(1) TR iR Teiian & gfig | -
(2) wEEm 3R A w Hi g &) L
(3) TR W Hee 1 e |

(4) ool 99 siv e & gam

(1) Russian Revolution (2 ﬁ:;;‘;la Carta
(3) American Revolution (4) French Revolution
Wﬁmﬁmﬂ,mmégﬁ%ﬁq&@ma
(1) e i @ ety
(3) e it & @ R i A
n

Which of the following are essential elements ég“"}au' trial ?
(2) The trial is held in an open court. = '
(b) A copy of charge sheet and all other evij

given to the accused. " éVidence that the Prosecutj

(c)  The defence lawyer is not allowe
(d) Judges decide the matter on the
Choose the correct option :

(1) Only (a), (b) and (d)

(3)  All (a), (b), (c) and (d)

3 7 @ Fr-d fadeq fore goamd &
(a) HFEH A F WA Gelt srerem
(b) m—wmwwqmm&mmw

(1) Fad (a), (b) A4 ()
(3) (@), (b), (c) T4 (d) @it
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69.

70.

71.

Which one
: 2 Choose the corT

Which of the fo]
ket lowing techni :
working in group taskg? echnique is most effective to assess individual perfo
. rmance of a stud
ent

(a) Rubrics
(c) Presentation ((Z; Multiple Choice Question
Portfolio

Choose the correct option :
(1) (c) and (4) |
(2) (a) and (d)=
55 @5 () (a)and (b) 4 (b
_ | ) and (c)
Fefatad FH-H i faft Tererse Sge A e o S1R-912 GYE § W R @ ok

£ 1%
§ 3 F

BT 1 ST T e BT 8 2 >

bour®

(a) FSREw 1
o (b) TEfoweda g
(c) FHEH s IR

(1) (o) @ (d) @ @@ 6 @WE @ (b)TNE

s the highest concentration of Adivasi communities ?

Which region in India ha
(3) North India (4) South India

(1) East India (2) West 1“% |

: - /

q wAe@d @ Wmﬁﬁ @ swd () o
?Q . iy s |

of the following statemenfsﬁ%’mrately reflects the concept of plurality in social science

ect opﬁeﬂﬁ“%
5m social science B4

curriculum :
_ of certain perspeetYe

(1) Exclusion o . Langueg® in social science curricular materials

f comp ex
(2) Use © A

. nce of 2 gingle 14€° 8y ; : .
(3) Don’lﬂ"an . nultiple PerspeCﬁVes and diverse VieW points
@) Inclusion © : ﬁ@@ﬁqﬁﬁaﬂﬁﬁﬁﬂ—mmaﬁmﬁm%?w
e T b

=1 -_a-q’i[ EF::'EI r . 9

bt g;aﬂﬁ‘?ﬂ’*‘ﬁ’(lj'l
' =51 ITATT

g >
(2) £ gqg@dl ’ casll
SIEY
5 s faar - e M .
(4)




72. Consider the statements (A) and (B) and choose the correct option :

(A) The natural sciences are superior to social sciences and are the domain of bright students.

(B) The social sciences are essential to provide social, cultural and analytical skills required to

adjust to an increasingly independent world.

(1) (A) is true but (B) is false (2) (A) éis-fa_:lse but (B) is true

(3) Both (A) and (B) are true (4) Bothe(A) and (B) are false

e

W(A)aﬂt(mmﬁaﬂaﬁmafﬂnﬁfwmﬁﬁgﬁ

(A) v
(B) ST T W, et SR A A

1) (A)FF % fipeg (B) 575 € 2 (A
@) (A)3T(B) 2 T ¥ @) (A) 3 (B) a‘ra‘f_azw g
ience assessment

73. Involving teachers is considered important in }he‘;gdevelopment of social sc

framework to : e
prevailing changes.

(a) integrate contemporary events and
d evaluation only subj@”ﬁc__éntered and to limit its scope.

money by using tegchtiﬂ__ _gnly as a resource.
el.of teachers by using the experiences of teachers.
E =1

(b) make curriculum an

(c) save time, labor and

S

(d) make necessary changes according to the lev

5 8
= "

Choose the correct option :

1) (a), (b) and () only
(3) Only (@) (4) (a) and (d) only

Wﬁm%q@mm%ﬁﬂhﬁﬁmﬁaﬁmﬂaﬁm@wm%:
Wmﬁmmﬂqﬁaﬁﬁm@%@maﬁmn

(2) (a)and (b) only

;b; il ﬁhwﬁﬂﬁwm%&ﬂﬁﬁmﬁwﬁmmeﬁm.
© Wﬁaﬂaﬁﬁwaﬁmﬁmmﬁa g 3T ¥ F I FW F A
d) foas & sl % T B e # TR AT SERF WiEdT HE & fu)
(1) Fe (@), () () (2) A (a) SR (b)
(3) ¥ (a) (4) Fa9 (a) I ()
port IR 52 K



74.

75.

Consider the following st i
Science and choose thge cgigfzt;h%femon (A) and Reason (R) in relation to the nature of Social
Assertion (A) : i i .
(A) rfI'he s9c1al sciences have developed their own distinct methods for dealing with
acts in an objective and systematic way.

Reaso : :
n (R) : Unlike the natural sciences, in Social Science it is difficult to insulate the observation
and analysis of facts.from the pressures of popular sentiment.

e

(1) Only (A) is true by

(2) Only (R) is true P
(3) Both (A) and (R) are true and (Rja; the correct explanation of (A)
(4) Both (A) and (R) are true but (R).is;not the correct explanation of (A)

Wﬁamﬁuﬁ%nﬁaﬁﬁv@ﬁmmﬁmﬁmmwaﬂrﬁmwﬁwﬁﬁnwa@

faaeq =1 999 ST —
AR (A) : arefores o 3 e Stk e s A () @ et &g oroed T i AT

faferat forenfad 1 8 | |
@ (R) : Wmﬁmﬁfm(m)rmmﬁﬁmmﬁgwﬁwﬁ%
ST T T 1 e FA BT 8
(1) Hd(A) el B wl
7
@) e (R) el B e
(3) (A)aﬂt(k)aﬁué%am(m, (A%;ig;aﬁamﬁ%%l
@ (A aﬂT(R)ﬁHﬁ%‘ﬁ(R)» (?5;??9@ ATl
ol ote democracy ?
Which of the following may be used ii:“ te democracy
(a) P eople ar¢ equal and f:e rospefols
(b) people ar€ wealthﬂ);h i‘; 11:1 " betteFr way than others
() Peoplenézzzlt"; C;ore ccountable and rational
e sfﬁz correct OO 2 () and(d)
ihoo ), © and (d) @ (a), (b) and (;)?
53; (a) and (b;q L 3 mﬁ;rgfﬁﬂ o T oA €
DT
g a e WH geg € |
- " F r'
(d) L 1 F| “"(2) (b) T (d)
, (b) 991 (c)
Hﬁ ¢) el (d) 4) (a), (b)
1 ®F (m " B )
@ @7

_....mullllllm]l“m




76. Match the following and choose the appropriate option :

7

Skills/Abilities
Sensitivity towards differently abled, showing concern for
environmént 2

Indicators of assessment

(a) Discussion (i)

(b) Observation (i) Making 10?25@1 conmections

() Normative concerns (iii) Reporting{frafrating, picture-reading and drawing

(d) Explanation (iv) Listening, E;Eéessmg opinions and finding out from others
(1) @), (b)-(i), (o)-(i), (d)-() P~

() (@)-G), (b)-(iid), (c)-(iv), (d)-(i) A

() (@)-(iv), (b)-(iid), (c)-(i), (d)-(ii)

@ (@-Gv), -G, (©-(), (d)-(ii)

ﬁ%ﬁqm‘fmﬁwﬁaﬁﬁﬁmwﬁ%ﬁwgﬁ i

(a) == @) ﬁmm?ﬁﬁm,wm%mﬁmmml
(b)  sTaEEA (i) e Heie S

() Frmm s (i) Fedifé aﬁ%—m 3R st

(d) TR (iv) Ww{ﬁmﬁr{@fr@rwm

1) (@), (b)), (), (d)-g) EiY

(2)  (a)-(id), (b)-(ii), (@)-(iv); (d)-(i)

G®) @), (b)-Gii), (c)-Gi), (d)-(i)

@ @-v), (o)-Gai), (0)-(), (d)-(iii)

(1) Tewr ) IR % 3) @Y T (4) <Enem

P g 54 &



78. The Constitution determ; . . .
b 5 . Tmines the relationship among people living in a territory called citizen and

(1)  relationship among people and government

(2)  relationship among neighbouring c::fﬁ'\tnes and government

(3)  relationship among people and co;i:'_:ates

(4)  relationship among neighbouring ;::ith-ies

wfaum o @iﬁ?ﬁmﬁaﬁ%é}awﬁ;mﬁqﬁuﬁﬂm%mﬂ?#ﬁm

Fruifia =t &1

(1) @ iR §ER & e ey

p—

(2) S e si R F o ey’
(®

3) it afR safE NG

—
@) q@.ﬁaﬁa;aﬁﬁﬁ'ﬁfﬂ -
O

s Code of Med.lcal Ethics states that every physician should, as

79. The National

far as possnble, prescrl |
{2 Ancient remedies
(1) Generic€ medicines ﬂ*.,‘;
{43: Global brands
tic medicines ~ & |
(3) Gene mﬂ“ﬁmﬁww-%:ﬁwﬁ’quw@,ﬁmﬁ
ﬁqfﬁﬁaﬂ‘“ aﬂ%mff ﬂf’“‘*' € ﬁj |
i s (z) gt STER ;ﬁ
v ) Sfya TS
K

g

& g e 55
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80. A large number of people in rural India who are landless, although
th :
agriculture are called as : ugh their main livelihood source is

(a) Marginal farmers (b) Mlgranl; labourers

(c) Agricultural labourers (d) Small farmers

Choose the correct option :

(1) (@), (b) and () only @ and (&) only

(3) (a)and (b) only 4 ® ana (C) only

mwﬁ@aﬁmﬂﬁﬁm%ﬂﬁéﬂ% Waﬁﬁﬁmmg@@ﬁw%wﬁ%:
(b) e Af eI

(a) Hmiq fHaH
T fagpeg % 941 R ;“f“

(1) ¥ (a), (b) () ) Wﬁsﬁc)aﬁ(d)

(@) @*ﬁiﬁ ©)

F
Ll

(3) o (a) R (b)

T

»vjh wu::j"(fl v.?'

81. Which of the following resources are relevant to diseuss the theme ‘discrimination’ ?

(1) Narrative of B.R. Ambedkar’s experiences of looking for a place to stay after returning v
India. '

(2) Advertisement of a woman washing clothes in a commercial.

.

=
£

(3) Text of Ashokan inscriptions.
(4) Universal Declaration of Human Rights. -

iy’ for = A B ﬁmﬁ-@aﬁmﬁwm%v

1) AR aﬁm%mﬁﬁ%wmﬁ%@m@%%aﬁﬁmw
(2) T for # S A g e H C
() i % s @1

(4) TR 1 Afeen e
P11 TR A 56

T -
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82.

83.

A teacher wants to divij
will be the most releva;lctle 30 students of her class in small groups for a task on diversity. Which
way to make small groups of students ?

((;)) ;::‘ordmg to students marks in last exam from high to low
erogenous random groups based on a

(3)  As per students comfort o

1(;)%[ Benchwise from front to back

(1)  Toenfeii & froch wien & om sigt % wed %9 4 -

(@) T el ae < e da v sia & ©

(3) T % gfasrEr N

(@) M A G F w9 A 31 F F9 F IR

"
€€
i

™

J

Which of the following provide scope to develop critical thinking skills ?
What role did the Yamuna play in the layout of the L{I}ig"lal city at Shahjanabad ?

(@)
=
(b) What is the purpose of press conference ? How do:_gsj_]?e press conference help you get
information on what the government is doing ? fj:_

examples. RS

(<) Differentiate markets with illustrative %

(d It is necessary for the civil servants to be politically neutral. Explain.

(e) Availability of water is a major factor affecting the settlement pattern. Discuss.
e e

ct option :
Choosce);lhe(:r:;’ (d) and (¢) ) Only (a), (), (d) and (¢)
& iy (c) and (d) (4) Only (b), (), (d) and (¢)
Feiqa i =) forehfiad i I STTEL TG DLl 22

F1
freafetf 7 ¥ ; Wﬁmiaﬂﬁﬁmﬁwqjha“ﬁ;fj
e o e & T T A 3 e & (o

gl
WWW%? y
(b) iy Al g7 s :J:rt;
s T s <
' T
(d) uwh qa et &ﬁ'ﬂ‘ﬂﬁﬂ?ﬂﬁﬁﬁw(}; | |
e gfed
(e S Emaqqaﬁl @) Fad (a), (©) (d) 3T (e)
wdt ) 0 @ 5 (©) gy T O it (e)
@ FEE @
oy @O e =

il



84.

85.

86.

P-X1 (IR ATAW 58

A

Fundamental Rights and Duties of Indian Constitution are written on the walls of social science
classroom. This will make children learn primarily through

(1) Memorisation (2) Reasoning (3) Observation  (4) Imagination
e P ) Sl i S S e SR wde ) e T d e R

& ¥ g1 fg@m 2 X
(1) 955 & 2) 3) arc@cﬁ (4) e

Which method would you use to collect informatiori about the actual and correct status of

earthquake victims in your area ?

(1) Project method (2) Problem-solving method

(3) Inquiry method (4) Survey method

319 39 & 5 Wmmﬁﬁmawmﬁggﬁﬁmmmammﬁm

(1) afrem fafy (2) Twen-gEEH
o

(3) e/ gea fafd @) TdEm ﬁf%r{ 2
£V

ik
.1“

L2 o ; ,
According to Indian Constitution this kind of reservation is not a violation of the right to equality.

(1) To ensure jobs based on nepotism.
(2) To give jobs to close kith and kin of political leaders.
(3) To give special treatment to someone in order to ensure equal opportunity.
To ensure jobs to people from States where an ele;; representive or Minister comes from.

©)

v e S SR 59 ST 1 SRS W 35 S 1 St e &
(1) - sifiTErg & e o I G FA

() s wh s ) A _,_j

(3) TuA IEER gifed w0 % fag R % e faly seen ST
@) o oedi & whafafe o1 welt ST AR € S TS b A ] A



87.

88.

Pqp

t option of the
Read the Assertion (A) and Reason (R) statements carefully and choose the correct op

following :

Assertion (A) : Values can be taught, too.
Reason (R) :  Social studies is a gy
(1) (A) is true but (R) is false,

(2)  Both (A) and (R) are false,

(3)  Both (A) and (R) are correct ang (R) exf;ré__if?ls (A).
(4) Both (A) and (R) are correct by

bject through which all basic values can be taught.

t (R) docs'miot explain (A).
ﬁmmmmemﬁWW@wﬁﬁmﬁ@ﬁM@mmgﬁ:
SR () 3o e vt ey 000
T (R) : Wmﬁilﬂaﬁfﬁw%ﬁmifwaﬂ

(2)  (A) 7 (R) Y eraey ¥
©) (A)aﬂz(a)a‘m‘fwér%aﬁtm)aﬁ(n)a@m%
@) (A)ﬁt(k)ﬁva%%mmﬁ(m@ﬂﬁm%

(@ A group of girls are making Rangoli gi*:

(b) A group of boys are volunteering in anigal function,

) A group of girls are preparing for dance Competition,
(d) A group of Boys are arranging refreshments for guests.
Choose the correct option :

O @ad@ @ Oawd@ @ @aag

A (b) ang ()
ﬁw&f@aﬁﬂﬁq-ﬁm%ﬁﬁm@ﬁ‘ﬁiﬁmwwmg?
(a) eTEfFAl % Toh GYg gRI Tl FFT o
' N
(b) a@%wmmﬁﬂmﬁmmw)
(c) refRdl % FiE g Fo WA A dr

(d) o= % FE §W aﬁfwaﬁ%mwf%i?mnm

W faened 1 997 H1L |
3 al
D @wQ @ (b)) (3) (@) e (p) @ (b) ey (©)
59
B0 R

k N




B

nts to make rules for their class. These were then written on
their consent to follow these. The chart paper was pasted in
e students. This can be an introductory activity for which of

A Social Science teacher asked stude

class, so that it can be referred by th
the following topics ?
(3) Diversity (4) Marginalisation

wﬁﬁﬁﬁﬁﬁﬁﬁﬁaﬁﬁﬁ%&m%mwmﬁmteﬂtﬁﬁmmaﬁfmm
forg < €| mﬂaa%ﬁﬁuﬁfa?wa@wﬁé%%l 2y =S e Feret fen S %, e = 5@
st 3 A TR v H | sﬂnﬁﬂﬁﬁaﬁﬁﬂﬁﬁmﬁwﬁ%{ﬁ%@ﬁﬁnﬁﬁﬁmﬁmﬁ

(1) Democracy (2) Markets

F

foran <11 W © 2 :
(1) eIEA () R — () Tafae (4) AR
90. The purpose of diagnostic evaluation isto:
characters

(a) obtain information about learner’s

(b) get to know about the knowledge students already possess

H

(c) classify learners into categories™

o i

!

(d) to assess the learners

e

"
e .w:::ﬁ’

e

ra
o

Choose the correct option : ©
—>@2) (@and®)

(1) (d)and (9)
S

3) (a), (b) and (¢) @) (b), (©) and (d)
S HediE 1 T SeEd ?:
(a) ﬁﬁﬁ#aﬁ%a&ﬁwmﬂm

(b) feranfefeii 3 @ 9 o A A ST

o

vt

e T E

i

) i o 2 g
(d) ferenfedi =1 S Zl‘fz
T o &1 997 B -
Py
1 @ st Lo @)
3) (@) (b) 3R () @) () (© I
p-11 [0 IR 60
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PART - IV
LANGUAGE -1 : ENGLISH

g

PORTANT : Candidates shoyld attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH a5 LANGUAGE-I On.%
{

=

Read the passage given below ang answer the questions (91-99) that follow :

1.

91.

92.

93.

P-T1 Illllllllllll

On 15 : . ) ;
= I«:mua_ry 2009, several interesting things h&ppened. A plane crash landed into the Hudson
ver, right in the middle of New Y k Ci i
B : ork City. Thépilot, crew and 155 passengers escaped safely.
ut then, something else ha d... Ti i TE
immediately tweeted ppened... Jim wds{nearby and watched the event happen. He
I 'yk h eeted that he had Just seen a plarfg crash in the Hudson. From there the news
It)h quickly. People contacted him immediately and asked him what was happening, and
g)r er people on the street took photos and viégé_?{ with their phones and posted them online.
dinary people suddenly became journalists. Itwas 15 minutes before the news broke on official
news channels.
Photos, videos and tweets from ordinary people at the scene of dramatic events now provide the
words and images that describe events in the news. When a meteor exploded over a Russian city
in 2013, millions of people around the world watched videos and photos of the event on Facebook
and YouTube. Social media can also save lives. In January 2010, an earthquake hit the Caribbean
island of Haiti. The government said that there had been an earthquake, but they didn’t give
many details at first. Meanwhile, people living in the disaster area were posting photos and eye
witness accounts on Twitter and Facebook and«t€Hing the world r?hat it was an emergency and
houses were collapsing. A local radio presenter@iséd this information to help people find family

members, and people even phoned his program+o-ask if their relatives were safe.
’ media, but false stotiesispread just as quickly as the truth. Some of
thers are deﬁbera%iﬁ_gaxes. Hoaxes remind us that not everything

News travels fast on social
But social n;iegl? can change our lives for the better.

these “facts” are erroneous, O

ish i iable.
le post and publish is relia
people p [
News on social media : @) arf jI:;ignj_ficant
(1) are deliberate hoaxes (4) travel fast
- tatements .
Read the foﬂowmghsd o B 2009 l
@ A plane crashe od, but the pilot lost @!e.
() 155 passengers escap! ted pictures on Facebi;—'“
im, an onlooker, post® T incorrect __
2 ) ;S correct, but (b) 27 (rrect N
g; (:) (b) and (c) are aut u;ic: () is incorrect §
’ are correct incorrect
@ @Ot @ and 0 o——
c) is ’ _ by people on :
(4) ( osion i3 013 in Russia :;?S g FaacebOC’k and YouTube
0sio
The meteoréjmedia handie® 4] . You*

T



94.

95,

96.

97.

98.

99.

p-1

Identify Parts of Speech of the underlined words in the sentence given below :

‘But social media can change our lives for the better .’

(1) verb, adverb (2)ynoun, adjective
(3) noun, adverb (&y~] verb, adjective
o
N

Complete the given word analogy : O
dramatic : exciting : : hoax : - o
(2) excuse = (3) media posts (4) deception

o
E =

(1) example
Arrange the following events as mentioned in para 1 in the correct sequential order.
(a) Jim watched the crash and tweeted.

(b) People started contacting Jim for updated news.

(c) A plane crashed into the Hudson Rﬁ

(d) The news of the crash was broadcast. 15 minutes later.

1 @->©->@->0 |
@ ©-@->0->d
@ ©-o0->@->E@
@ ®B->O->@-@

1oy
'

I

-
hp

I
il
L fm!r i

6Ll

‘Gome of these facts are erroneous ‘ The antonym for the underlined word in the given sentence

(1) invalid (2) surprising (3) faultless (4) inaccurate

Why should we not take news on social gf"ééia lightly ?
(1) They can change our lives for the hetter.
(2) News posted are hoax and confusifig: |
(3) The facts are erroneous. S
(4) Strangers can call you to seek Morﬂon'

O
Ordinary people suddenly became journalists means :
(1) they started contacting Jim to know the details
they left the jobs where they were employed

(2
3) they started posting news-bits pictures and videos on social media
@) they headed towards media houses to seek employment

\IIIIIIINIMIIIIWIHIIHIII 62 K




E/

Read the poem given below and answer the questions (100-105) that follow :
Great, wide, beautiful, wonderful world,
With the wonderful water round you curled.
And the wonderful grass upon your ,b.t__e_sast
World, you are beautifully drest. ;:_:
The wonderful air is over me,
And the wonderful win is aking the tree,
It walks on the water, a ;v virls the mills,
And talks to itself on the fops of the hills.
You friendly Earth! How far do you g 0:
With the wheat-fields that nod and t j—_ivers that flow.
With cities and gardens, and cliffs, and isles,
And people upon you for thousands of miles ?
Ah, you are so great, and I am so small,
I tremble to think of you, World, at all;
And yet, when I said my prayers today,
A whisper inside me seemed to say,

"You are more than the E:;ﬁﬂ_i, though you are such a dot,
You can love and think, 3nd the Earth cannot!’

100. The wind in the poem talks to - %_if%
(1) clouds (2) hills B3 @) i (4) trees

AP

101. In this poem, the poet describes the | ™=

(1)  beauty and vastness of Earth i;ﬁ:‘@) life in the cities

(3) the Earth, its present and past  (4) the plants that grow on the Earth

102. What does the underlined word refer to ?

‘It walks on the water, ...

(1) wind (2) Earth ¢55  (3) river (4) grass
103, In the line, “with the wonderful wate;r.umund you curled’, the word ‘curled’ means -
(1) mounted (2) turbulent, | (3) arched (4) surrounded
L()

104, Identify the figures of speech in line4and line 4.
(1)  alliteration, personification [~2) simile, alliteration
(3) anaphora, personification (7 (4) alliteration, metaphor

105, List the 3 different things (in stanza 3) found on Earth that make it great.

(l) wheatﬁdds; -trees, whisper (2) cities, grass, mills
(3) rivers, gardens, cliffs (4) isles, oceans, people

U g e

B




106.

107.

108.

109.

110.

111.

vl (1 T

The impact of tests and assessments on teachers, learners, and materials is called

(1) Classroom effect (2) Reinforcement
(3) Corpus effect (4) Washback effect

Match the language teaching methods in Column - A with their understanding or related activities

in Column - B :
Column - A
(a) Communicative Language Teaching

~=!  Column-B
_;—ij Socially acceptable and contextually
¥ appropriate language

(b) Direct method i%G) Silent reading

(c) Grammar Translation —ii) Written literary texts

(d) West's New Method ﬂ'\?) Grammar is taught inductively

(1) (a)-(i), (b)), (©)-(id), (d)-(v)
(2)  (a)-Gi), (b)-(), (©-(iv), (d)-()
@) (a)-), (b)-(iv), (©)-id), (d)-()
@)  (a)-(v), (b)-(i), (c)-(i), (d)-0)

Which school of learning believed that language; whether verbal or non-verbal, takes place through

the process of habit formation ? il
(1) Cognitivist 2 !_—--ilj;teractionalist
(3) Functionalist (4) 3 Behaviourist

tssuc menu cards and train tickets to

A language teacher brings everyday objects such as newspapers,
of class V. What is she doing to make learning happen ?

teach the students
(1) She wants her studenits'to learn English-hrough real life like situations.

(2) Sheis creating awateness in' the students.
(3) She is using authéntic miaterials to make her teaching more realistic and useful.
(4) Sheis trying to help her students to learn multiple languages.

Which of the following statements is NOT true about languages in India ?

(1) Sanskrit is @ Modern Indian Language.s
(2) Hindi is the lingua franca of the Indiani sub-continent.

According to the Indian Consﬁtuﬁon,i jvehsh is an Associate Official Language.

@)
(4) According to the list of Eighth scheduleof the Constitution of India, there are 22 languages:
T

Multilingualism in India intends teachers toﬁderstand :

(1) ‘a language’ policy should be framed i!_n:T;diverse society

(2) language, identity and culture are Seﬁ'éT__f"a'ie apiikiag

(3) communication happens, and social cohesion is maintained

(4) minority languages should be clubbed with dominant languages

64 K




112. The time and place of the story are called the .
(1) Plot (2) Climax (3) Theme 4) Setting

113. Listening involves :
(1)  using prior knowledge of the subject
(2)  recognising sounds and deducing the meaning from it
(3)  hearing the sound, decoding the sounds as they are
(4) guessing the content

114. Which of the following is NOT an important factor in planning a listening lesson ?

(1)  Gender of speakers. (2)  Number of speakers.

(3) Pausing the recording. (4) Speed of delivery.
115. Which skill of language is known as receptive skills ?

(1)  Reading and Writing (2) Listening and Reading

(3) Listening and Speaking (4)  Speaking and Writing

116. A teacher gives a task to familiarise the learners with the vocabulary used in restaurants. What
among the following should be objective of the lesson ?

(1)  To introduce the text about a holiday destination
(2) To develop critical thinking

(3) To acquaint the learner with the lexical items

(4) To familiarise with the grammatical items

117. In a language class, students form groups under the guidance of a teacher and present an
advertisement on a given topic. Learning a language in this way is called

(1) Language games (2)  Guidance and counseling
(3) Collaborative learning (4) Competition and rivalry

118. Linguistic function such as intonation, tone, stress, and rhythm are known as :
(1) Phonetics (2) Pragmatics (3) Poetry (4) Prosody

119. Ina language class, a teacher asks a group of students to act as purd1aSE,:rS, property sellers, landlords
and tenants while other students are asked to watch them and enjoy their conversation. Thig

activity is called -
(1) Acting class (2) Guidance (3) Roleplay (4) Drama

120. Schools should follow additive bilingualism because it :
(1) promotes the child’s language but not the culture
(2) hinders the development of the first language =
(8) wvalues the culture and language of the child
(4) gives importance to teaching English as a second language

S T % s "R



106. The impact of tests and assessments on teachers, learners, and materials is called

(1) Classroom effect (2) Reinforcement
(3) Corpus effect (4) Washback effect

107. Match the language teaching methods in Column - A with their understanding or related activities

in Column - B : e
Column - A

(a) Communicative Language Teaching Hiﬁ Socially
{7l appropriate language

~J  Column-B
acceptable and contextually

I iy Silent reading
~—(iii) Written literary texts
—tv) Grammar is taught inductively

(b) Direct method
(¢) Grammar Translation
(d) West's New Method

(1) (a)-(ii), (0)-G), ©-(), (D-(V)
@  (a)-), ©)-G), @), @-5)
@) (@), b)), @i @D
@) (@)-Gv), b)), @D, (@0

108. Which school of learning believed that languagez whether verbal or non-verbal, takes place through

the process of habit formation ? -

(1) Cognitivist (2) {vé[ﬂ_teractionalist

(3) Functionalist 4) = a_thavi-'ourist
B

=
== 3
i

109. A language teacher bririgs everyday objeéfts:'igh as newspapers, menu cards and train tickets to
teach the students of class V. Whiat is she déing to make learning happen ?

(1) She wants her students'to learn Engﬁ%ﬁrough real life like situations.

(2) Sheis creating awareness in the students.

(3) Sheis using authenticméfterials to make her teaching more realistic and useful.
(4) ~ She is trying t© help her students to learn multiple languages.

Which of the following statements is NOT true about languages in India ?

110.
Ganskrit is @ Modern Indian Languagajr g

1) ——
(2) Hindi is the lingua franca of the hldja?’séb-conﬁnent.

(3) According to the Indian Constitution,g Jlish is an Associate Official Language.

(4) According to the list of Eighth sched i the Constitution of India, there are 22 languages

111. Multilingualism 11 India intends teachers to Guiderstand :
a ‘a Janguage’ policy should be framed in a diverse society
(2) Janguage identity and culture are sel;;ara e entities
3) Communication happens, and social cohesion is maintained
(4) minority languages should be clubbed with dominant languages
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112.

113.

114.

115.

11e.

117,

118.

119,

120,

Py

-

i lled the .
The time and place of the story are ca ST — ik
(1) Plot (2) Climax (3) Theme (4)  Setting

Listening involves :
(1) using prioy knowledge of the subject

(2) Tecognising sounds and deducing the meaning from it

@) hearing the sound, decoding the sounds as they are
4) guessing the content

Which of the followmg is NOT an important factor in planning a listening lesson ?
(1) Gender of speakers. (2)  Number of speakers.
G P ausing the recording, (4) Speed of delivery.

Which skil] of language is known as receptive skills ?
(1) Reading ang Writing (2) Listening and Reading
(3) Listening ang Speaking (4) Speaking and Writing

A teacher gives a task to familiarise the learners with
among the following shoylq be objective of the lesson

(1) To introduce the text about 4 holiday destination
(2) To develop critical thinking
(B) To acquaint the learner wigh, the lexical jtemg
(4)  To familiarise with the grammatica] items

the Vocabulary used in restaurants. What
?

guidance of , teacher and pr
PIC. Learning 5 language in this way is call p SeeIi8n
(1) Language games - (2) Guidance and Counseling —
(3) Collaborative Ieam.ing (4)

C‘3'111P»etit1'0n and rivahy

Linguistic function such as intonation, tone, Stress, and

. Thythm gre known ag .
(1)  Phonetics (2) Pragmatics 3) Poetry @ Pmmdy
Inalanguage class, a teacher asks a group of students to 5¢¢ as purchagey ;
and texg;ts while other students are asked to watcp, them ang er\jo&; f;;‘;}i)rezty seﬂerS,_lan dlords
activity is called ; Omf’ersatmn. s
(1) Acting class (2) Guidance (3) ROleplay ” s
Schools should follow additive bilingualism because g .
(1)  promotes the child’s language but not the cultyre
(2)  hinders the development of the first language
(3) values the culture and language of the child
(4) gives importance to teaching English as a second language
65
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PART - V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt éﬁestions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as.L NGUAGE-II only.

Read the passage given below and answer the q:g?:étions (121-128) that follow :

1.  Chocoholics no longer need to feel guilty agé_:i their desire for chocolate. They are simply the

victim of the genes, scientists have found. TEE:S_B called “sweet-tooth gene” has been identified by
separate teams of researchers and helps explain’ why some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist sugary foods. Children, in particular, risk their health by eating too
many sweets and chocolates.

2.  To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweet foods. One of the team members said “A sweet taste
receptor recognises the sweet content of food-and initiates a cascade of events which signals to the
brain that a sweet food has been eaten.” He Eﬁtiler added, “The same gene exists in humans, so it
means that if your parents have a sweet too@en you probably will as well”.

ave a sweeter tooth than others. But it has

He said, ”We have always known that some pepple h
also been proved that if you are gradually eng;@“g;:i to less sugar, then the body becomes accustomed
to less. They will be satisfied with a lower levet of sweetness. Doctors warn against any form of
gene therapy which seeks to deactivate thesweet gene. "We have produced this gene through
evolution because sweet foods in nature a:&:i@ poisonous, they give us energy. We all need to
have some sugar in our diet,” claim scientists. US researchers are using this discovery to develop

[$5]

i

artificial sweeteners without any after-taste.

121. Having a sweet tooth means :

(1) teeth being sweet to taste 1

E
=

(2) teeth becoming decayed due to sugary_‘ff:;c‘fd items

=
-
-

(3) buying sweet food items from shops

|

(4) being fond of sweets and chocolates

s 8§ E
Ea S

122. Doctors are not in favour of gene therapy béfc_ﬁ_&se .

(1) People will feel guilty after going mrof?gkﬁ.-it,

(2) Ttwill enhance sugar levels in the body-~

(3) Sweet foods give energy to the body.

(4) Itis poisonous.
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123, Accordi.ng to doctors, sweet foods are -
(1) Poisonoyg

(2) deactivated genes
(3) dangergyg (4)  energy boosters

124, The Phrase * - - initiates 4

Cascade of events’, means :
1) signajs give

N to the brain

2 1o Start a serjes of Occurrenceg

@) to pPut a stop to orderly eyents

“4) to halt ang hinder Sequential events
125. Read the Statementg given below

(a)

1) () and () are incor
(2 (@), (b) ang (c)
3) (@) and (c)
(4) () and (b)

Tect, (a) is correct
are all incorrect

are incorrect, (b) is correct

are incorrect, (¢) is correct

126. ‘Chocoholics’ are people :
(1)  who are fond of chocolates

(2)  who are makers of chocolates
(3)  who hate chocolates

(4) who enjoy both chocolates and alcohol

127, Identify parts of speech of the underlined words in the Biven sentence .

“Doctors warn against any form of gene therapy which see

ks to deactivate the SWeet gene’.
(1) preposition, noun (2) conjunction, — |
(3)  preposition, adjective (4) adverb, adjective

128, Complete the given word analogy : g
accustomed : habitual : : initate 1 ? r
(1) start off (2) hinder (3) halt @) complicage
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Read the passage given below and answer the questions (129

1

129.

130.

131.

132.

133-

pAI |

-135) that follow :

v
E ﬂfgeg?; 12:221:1 $§ndwe ﬁ:vould speed through a village lined with waving Tibetan children. Thej,
i on 1er 1and so inviting that Dorje was not showing any signs of slowing doy
et of single and double storey buildings with walk-in cour ards jostled together in th
oothills to gain maximum exposure to the sun. The houses oked solid; built for the harsf\
envuon.ment. Walls are made up of stone To waist height and finished off with mud bricks to the
roof. Tin cans lined the window ledges, with the bright orange of marigolds il bloom. Fvems
up the black-and-white of the houses. g

Branches of trees adorned with colourful prayer fl gh into the wind from the top of the
green and yellow colours of the fabrics stood out against

flat rf)ofs. The auspicious blue, white, red,
the rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the jewelled dragon
horse, who carries the owner’s prayers up to the divine every time the flag flaps in the wind.
The larger villages have healthy trees, usually willows or poplars which look quite out o place in
the generally trecless landscape. Wood is a precious commodity in the highland areas of Tibet and
is never wasted. The few shrubs which grow wild on the hillsides are harvested for use a8 e
and each courtyard wall is piled high with sticks gathered from the mountains to get a fire started.
The lack of solid fuel in the shape of wood is not a problem for the Tibetans, who have an ingenious

wood substitute : yak dung.

ags stood hi

The phrase ‘courtyards jostling together’ implies :
(1) being oneon top of the other (2) beingin close proximity

(3) being very far apart (4) beingin different sizes and dimensions

t of Tibetan houses as Jescribed in the passage is incorrect ?

What aspec
d bricks.

(1) Roofs are made of mu
(2) Theyare solidly built.
(3) Walls are made of mortar and cement.
Tin cans line the window ledges-

4)
Why do the willows and poplars look absurd in the landscape ?
(1) Because the landscape is generally treeless.
(2) The other trees camouflage them.
(3) They aré stunted shrubs
(4) They have minimum pranches and leaves.
Ccompleté given word analogy
recious valuable * ingenious : 9
1(31) genui.n i s, (3) theoretical (4) inventive
sung 189564 Y 7 Tibetans as a substitute for :
Yak : -
(1) fire (2) woo (3) buildings @) maIigO].dS
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134. Read the following two statements :

in the houses
Assertion (A) : Wood and sticks are piled high against the courtyard walls in
Reasoning (R) : Wood is found in abundance across Tibet
(1) (A) and (R) are both incorrect
2) (A) is correct and

(
(3) (A)is incorrect, byt (R) is correct

(4)  (A) is correct ang (R) is not the reason for it

(R) is the reason for it.

135. Identify the underlineq words in the given sentence :
The lack of solig fuel in the shape of wood is not a problem for the Tibetans.
(1) noun, noun (2)  verb, noun
() noun, adjective (4)  adjective, noun
136. India’s Ianguage in education policy (Three Language Formula) attempts to promote
(1) Bili gual education with the focus on Hindi
() Mother-tongue based multilingualism
(3)  Multi language education
(4) Monolingyai education
137. What is a short story which has animals as the main characters and teaches an explicit moral
called ?
(1)  Science Fiction (2) Travelogue (3) Fantasy (4) Fable
138. Which of the following statements are correct ?
(@) Dyslexia is a reading disorder. -
(b) Dysgraphia is a writing disorder.
(c) Dysgraphia is a reading disorder. -
(d) Dyslexia is a writing disorder.,
(1) Both (a) and (b) are correct {2) Both (c) and (d) are correct
(3)  Only (a) is correct (4)  Only (b) and (d) are correct
139, Rita, a government school teacher, uses visual devices ang language games tg teach
class VI% students. Which principle of teaching is Rita applying ? Enghsh to
(1)  Principle of motivation and interest
(2)  Principle of correlating with life
(3) Principle of natural process
(4) Principle of practice and habit formation
140, What js NOT true about top-down processing ?
(1) Listeners make use of the knowledge of the world
(2) Listeners need to understand every word
(3) Listeners rely on their background knowledge .
(4) Listeners make guesses about the intended meaning
73
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

i i i £ 7
ich tool is not ideal for formative assessmen '
g)hm PrziECt (2) Class presentation

(3) Assignment (4) Paper pencil test

Assessment done throughout the teaching-learning process to clarify student learning and
understanding is called i .

(1)  Assessment in learning (2) Assessment as leammg

(3) Assessment for learning (4) Assessment of learning

Learners should be exposed to language, and errors are evidence that learning is taking place is
advocated by :

(1) Humanist (2) Psychoanalyst (3) Behaviourists (4) Cognitivist

Creativity in language education is :

(1)  classroom activity using new methods of teaching.

(2) classroom material using communicative language teaching.

(3) open-ended classroom tasks which allow for different interpretations and answers.
(4) merging elements from different subjects to understand something.

Which is a tool that allows for a number of synchronous and asynchronous online teaching
opportunities ?

(1) Television (2) Padlet (3) Textbook (4) Railway ticket

What is NOT true about errors in language learning ?

(1)  Errors are crucial aspects of the language learning process.

(2) Errors help to understand the process of second language acquisition.
(3) Errors hinder the language learning process.

(4) Errors are not always bad and help in learning.

In a second language class, a teacher played audio on ‘Health is wealth’. He then distributec

handouts and asked the students to tick the correct answer from the gj :
e L
the lesson was to enable the learner : given option. The objective 0

(1) tolisten, to analyse the ideas (2)

to memorise the lesson on heal
(3) to hear the lesson on health (4)  to engage the learners with o taﬂslkand wealth

When is International Mother Language Day celebrated ?

(1) 21t February  (2) 13t April (3) 1% Janua
ry (4) 14t Februar
Y
Identify the type of email you would write if yo iti
(1) Business (2) Chmten

gtoa coll ) )
(3) Informal Correspondence eague who is your friend

(4) Formal

Using everyday objects to teach language i

(1) Teaching aid %2)15 C;llletd

3) Reali X _
( ) ealla (4) Language games

p-11 (AR
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